JYVÄSKYLÄN YLIOPISTON KANSANTERVEYDEN LAITOKSEN JULKAISUJA

UNIVERSITY OF JYVÄSKYLÄ DEPARTMENT OF PUBLIC HEALTH PUBLICATIONS

No 15 1972

PEKKA J SARVIHARJU

Urinary excretion of catecholamines, 17-hydroxycorticosteroids and concentration of certain blood parameters during progressive endurance conditioning

This research has been supported by a grant from the Finnish Research Council for Physical Education and Sports, Ministry of Education, Finland

From the Department of Public Health and the Department of Biology of Physical Activity, University of Jyväskylä, 40100 Jyväskylä 10, Finland

URN:ISBN: 978-951-39-9044-2 ISBN 978-951-39-9044-2 (PDF) ISSN 0357-4563

Jyväskylän yliopisto, 2022

CONTENTS

	Fage
Abstract	1
Introduction	2
Subjects and methods	5
Subjects	5
Loading procedures	5
Conditioning procedure	Ó
Chemical methods	7
Standardization of procedures	8
Statistical analysis	9
Results	10
Effect of loading	10
Effect of endurance conditioning	10
Discussion	12
Effect of loading	12
Blood variables	12
Endocrine variables	14
Effect of endurance conditioning	15
Physical performance	15
Blood variables	16
Endocrine variables	17
Acknowledgements	
References	

Appendices

Ł

- ABSTRACT -

The urinary excretion of noradrenaline and adrenaline, 17-OHCS, the concentration of hemoglobin, hematocrite, the concentration of plasma lactic acid, K^+ , Na⁺ and blood glucose, in 22 male students were determined both before and after a periodic, submaximal exercise on a bicycle ergometer. The measurements were repeated three times during a nine-week endurance conditioning where eleven of the subjects participated.

Except for the decreased heart rate during exercise (p < .001) and increased $\sqrt[9]{0}_2$ max. (p < .001) the endurance conditioning resulted in a significantly decreased concentration of the average plasma lactic acid in the trained subjects during the most anaerobic phases of exercise (p < .025).

During the loading both the noradrenaline and adrenaline increased significantly (p < .001) as compared with the situation of relative rest before the exercise. During loading the respective urinary excretion of 1%-OHCS dia not change significantly. The training did not result in any significant difference between the trained and untrained groups in the urinary excretion of the adrenal hormones and the sympathetic transmitter, noradrenaline.

Beside the increased concentration of plasma lactic acid during the exercise periods (p < .001), temporary increases and decreases in the concentrations of blood hemoglobin and hematocrite values were found after the heaviest and lightest anaerobic phases of loading respectively (p < .05-.001). After the period of endurance conditioning the trained and untrained groups differed significantly in the response of hemoglobin after the first phases of exercise (p < .025-.05). The fluctuation was then found only in the untrained group. No significant difference in hematocrite values due to the conditioning was found.

Since the second loading phase of the exercise period the concentration of K^+ in plasma increased significantly (p < .05 - .001). The respective lowered rations of Na⁺/K⁺

- 1 -

were found ($p \le .05 - .001$) but not change in the Na^T concentrations. No significant effect of conditioning on these ionic concentrations were noted.

catecholamines; 17-hydroxycorticosteroids; hemoglobin; hematocrite; plasma lactic acid; blood glucose; exercise; endurance conditioning

Introduction

At present a great amount of literature demonstrates that an augmented sympatho-adrenal secretion is followed by an increase in the excretion of noradrenaline and adrenaline due to various stimuli of varying dominance of physical and/or psychic origin as reviewed, for example by Euler (1964), Levi (1967) and Mason (1968 b). A large inter- and intraindividual variation seems to characterize those responses as well as many other complicating factors requiring accurate standardization in experiments (Levi, 1967).

Physical work of even a moderate degree stimulates the sympathoadrenal responses and induces an increased excretion of catecholamines into blood or urine as suggested in many studies even during the first half of this century (cf. Takahashi, 1961). Similar results have been demonstrated since then in numerous studies reviewed by Euler (1969) and confirmed by many others in the laboratory (e.g. Gray and Beetham, 1957; Vendsalu, 1960; Banister, 1966; Lindmar et al., 1968; Conard et al., 1969; Becker and Kreuzer, 1969; De Schaepdrijver and Hebbelink, 1969; Frankenhaeuser et al., 1969; Howley et al., 1970, Sarviharju, 1970; Häggendahl et el., 1970; Raven et al., 1970; Kotchen et al., 1971) and under natural experimental conditions (e.g. Ehringer and Spreitzer, 1967; Yuori and Pekkarinen, 1969).

- 2 -

On the other hand, we do not know as much about the role of good or poor physical condition in the endocrine excretions in a state of muscular strain or during rest and recovery. Adrenal hypertrophy has been produced by an intensive physical training among rats as caused by an increase of both the noradrenaline- and adrenaline-storing parenchyma (Bränkö et al., 1962) and also without any effects on the adrenal weight or its adrenaline content in guinea pigs (ustwan and Sjöstrand, 1971). In recent studies when there was no cardiac hypertrophy, a significant reduction in heart catecholamines was noticed after prolonged physical training (beSchryver et al., 1969), but when it resulted in cardiac hypertrophy, the total noradrenaline and its concentration in the heart increased significantly (Estwan and Sjöstrand, 1971). This discrepancy in results and the functional significance of the phenomenon are still obscure.

The previous suggestion that a well-trained individual should be more physically strained than an untrained in order to produce an equal increase in the excretion of catecholamines (Euler and Hellner, 1952) is consistent with some evidence about the decreasing effect of intensive physical training on the urinary excretion of VMA (Adam et al., 1968). An over-all concept can be visualized by which a certain kind of physical training will increase the parasympathetic tone or decrease the sympathetic one during rest (e.g. Raab et al., 1960; Nöcker, 1964).

An organism reacts to the changes in the internal and external environment not only via the hypothalamo-sympathicoadreno-medullary pathway but also via the hypothalamo-hypophyseoadreno-cortical pathway. According to numerous studies an essential activation of the adrenal cortex is demonstrated to follow after various kinds of mental and/or fairly severe physical strain such as trauma, physical and surgical procedures directed to a human or an animal as reviewed recently by Mason (1968 a). He also reviews several studies suggesting that the most intensive reactions are found both in human beings and in animals in new situations accompanied by some kind of

- 3 -

unfamiliarity and threat. The picture about the effect of exercise, especially on adrenocortical activity, is not yet clear, The level of 17-OHCS has increased during excercise in blood (Kägi, 1955; Pace et al., 1956; Crabbe, 1953; Nazar, 1965; Vuori and Pekkarinen, 1969) and in urine (Venning and Kazmin, 1946; Hatch et al., 1956; Hill et al., 1956; Pace et al., 1956; Vuori and Pekkarinen, 1969), and has decreased in plasma (Cornil, 1965), and also after the primary increase during prolonged excercise (Kägi, 1955), or did not alter in plasma (Wegman, 1968, Moncloa et al., 1970) or in urine (Thorn et al., 1953, Hellman et al., 1956). The urinary excretion of ketogenic steroids has not altered, either, during exercise (Connel et al., 1958). Moncloa et al. (1965, 1970) have demonstrated a transient increased plasma concentration and urinary excretion of cortisol under hypoxia during exercise in man and a fall in cortisol concentration during exercise under hypoxia at high altitudes; sea level does not alter the cortisol concentration. Systematic experimental evidence of the relationship of physical condition and the activity of adrenal cortex with its reflections on the levels of hormonos in blood and urine are few. Hatch et al. (1950) found a significant negative correlation between the Harward Step-test scores and the urinary excretion rate of 17-OHCS.

Some data suggest a significant hypertrophy of the adrenal glands in animals with a corresponding increase in hormone levels at the beginning of training (Frenkl and Csalay, 1962). Since the onset of the research they found the weight of the adrenals increased continuously when the plasma hormone level decreased below the normal concentrations.

The aim of the present study was to throw light on the effect of regular physical conditioning on the urinary excretion of noradrenaline, adrenaline and 17-hydroxycopticosteroids as well as on the concentration of selected blood parameters during relative rest and muscular work.

- 4 -

SUBJECTS AND METHODS

Subjects

The subjects were sixteen volunteer, healthy, young men. They were matched from two separate groups with regard to their submaximal working heart rate in order to get as homogenous test and control groups as possible. Group A consisting of 5 control subjects and 5 test subjects was matched from 15 students, and group B consisting of 7 control subjects and 7 test subjects from 24 students. One pair from group A was excluded, the control subject because of his high physical condition due to participation in heavy physical work during the training season and one trained subject because a great amount of data concerning him was lost due to technical reasons. Group B included two test Ss as control Ss and two control Ss as test Ss from group A. These two groups are combined in the results section.

Loading procedures

Physical loading was achieved by a bicycle ergometer test consisting of three separate phases (Figure 1.) expressed as pedaling time per work load: (1) 6 minutes/1200 kpm/min, (ergometer work I) + 34 minutes rest in a sitting position + (2) 20 minutes/900 kpm/min, (ergometer work II) + 20 minutes rest in a sitting position + (3) 19 minutes/900 kpm/ min, immediately 1 minute/1500 kpm/min, (ergometer work III). The bicycle ergometer test was carried out before the training period and repeated three times at a three week's interval for both groups A and B.

A predominantly mental loading was achieved only for group B with an emotionally loading choice reaction test modified to a more difficult form than in the investigator's previous

- 5 -

study (Sarviharju, 1970). The results for this study are published elsewhere (Sarviharju and Mattila, 1972). Before the first measurements, all the subjects had once been in a measurement situation quite similar to the present one. A part of these pretests are to be reported elsewhere (Sarviharju, 1972).

The measurements for group A were performed from June to August and for group B from September to November.

The heart rates were calculated from electrocardiograms at the following steps of the test: (1) the heart rate at relative rest and the recovery heart rates were measured at the beginning of the last minute during rest in a sitting position before starting the pedaling, (2) the heart rate of the first phase of pedaling is the mean of the heart rates at the end of the last two minutes of pedaling; and (3) the heart rates in the second (20 minutes pedaling) and third (19 + 1 minutes pedaling) phases were measured at the end of the last working minute.

Maximal capacity of 0_2 uptake was determined by the indirect method devised by Astrand and Ryhming (195⁴). The steady state heart rates of the ergometer work I, 6 minutes 1200 kpm/min, were used in this process as well as an extrapolation of the nomogram, if necessary.

Conditioning procedure

The test subjects exercised on a bicycle ergometer five days a week, 30-60 minutes at a time, under the supervision of the research workers. The pedaling time was progressively lenghtened and equally for each subject in the same group during the nine weeks' training period. The work load was increased, individually for each subject, in order to keep the heart rate during the exercise at 160-170 beats/win. All kinds of physical exercise besides the training program were allowed to be practiced by the trained subjects.

- 6 -

The control subjects were not allowed to participate in any physical exercise, but in some cases they were asked to continue their previous habits of moderate physical activity. All the subjects had an exercise diary and their physical activity could roughly be estimated on that basis.

Chemical methods

The blood samples were taken: (1) ten minutes before the startup of the test, (2) five minutes after the cessation of the first phase of pedaling, (3) and (4) five minutes after the cessation of the second and third phases of pedaling, respectively. Blood was collected through disposable needles from an antecubital vein into a test tube containing arise heparine, while the subjects were in a supine position. The urine samples were collected from a period of three hours before and after the work. The second period contained the whole workphase.

From the blood the hemoglobin and hematocrite were determined and the rest of the samples immediately centrifugated for 10 minutes at 3000rpm. Plasma was separated for the determination of free fatty acids (FFA), K⁺, Na⁺ and lactic acid. The results from plasma FFA are reported elsewhere (Sarviharju and Vihko, 1972).

The precipitation of proteins was done from 0.1 ml of whole blood and the glucose concentration determined by the method of Hultman as modified by Hyvärinen and Nikkilä (1962).

Plasma lactic acid was determined by the enzymatic method with reagents and instructions of CF Boehringer - Soehne GmbH (1967). The intensity was measured with a Deckman Db spectrophotometer with a wave length of 366 nm for lactic acid, 630 nm for glucose and 540 for hemoglobin.

The concentration of plasma K^+ and Na⁺ were determined from proper dilutions of plasma with an <u>EEL</u> - flame photometer and Merck's Titrisol comparison solution.

Free catecholamines in the urine were determined by the fluorimetric method of Euler and Lishajko (1961), by

- 7 -

the adsorbtion onto alumina in pH 8.3, eluating with acetid acid and oxidizing with potassium ferricyanide in pH 6.2 to adrenochromes and transforming them into fluorescent trihydroxyindoles with alkalines. The intensity of fluorescence was measured with a Perkin - Elmer MPF-2A fluorescence spectrophotometer with an activation wave length of 396 and 440 mm and an emission wave length of 510 mm.

The total amount of 17-OHCS in the urine was determined by the method of Few (1961) as modified by Thomas (1965). The corticoids were then reduced, first with sodiumborohydride and oxidized with sodiummetaperiodate to 17-ketosteroids. After the hydrolysis the steroids were extracted into dichloretane and washed with Na-ditionite and distilled water. The dichloretane was evaporated and from the residuum the reaction of Zimmerman was taken. The colour intensity was measured with a Beckman DB - spectrophotometer with wave lenghts of 440, 520 and 600 nm. The compound of comparison used was dehydroisoepiandrosterone. The Allen correction coefficient was used.

The methodological error of the double determinations from the data was 9.5 per cent for noradrenaline and 11.7 for adrenaline. The error was 2.9 per cent for 17-OHCS, 1 for K^+ , 1.3 for Na^+ , 2.5 for glucose and 7.9 for lactic acid.

Standardization of procedures

The order of the collection of specimen and the other procedures are presented in Figure 1. The subjects were not allowed to participate in any physical exercise the day before the tests. The evening before they had to go bed at 10 p.m. From that moment they were forbidden to eat or smoke before the tests were over. This prohibition was supervised by the investigators since the reporting of the subjects at the laboratory at 6 a.m.

- 8 -

In order to bring about an adequate urine output the subjects were to take 300 ml (group A) or $^{1}400 \text{ ml}$ (group B) of water at the laboratory before and after the exercise period.

The ergometer tests were always carried out between 9-11.50 a.m. Every time all the phases were in the same order and the same pairs were pedaling on the same day. The lengths of the resting periods were dictated only by the practical arrangements of the test. The temperature, humidity and air currents of the laboratory were measured and very similar every time. The light clothing of the subjects was standardized. The test procedures were carried out during the same day per a subject each of the four measurements during the training season.

Statistical analysis

For measuring the effect of the various loadings the results were tested with Student's t-test for correlating means between the rest and loading situations concerned, and only in the measurement before training.

The effect of training was analyzed by the two - way covariance analysis for repeated measurements. The pretreatment measurements were used as covariates. A locarithmic transformation was performed for the whole data with some improvement in the premises but without an effect on the rate of statistical significance. Only the nontransformed data are presented here.

In some variables the missing data varying from zero to three observations per analysis, i.e., with the maximum of 2.7 per cent, were substituted with the group mean or with the observation of the nearest measurement for the subject concerned with an equivalent reduction of degrees of freedom.

- 9 -

RESULTS

Effect of loading

All the phases of exercise significantly increased (p < .001) the concentration of plasma lactic acid when compared to the previous situation of relative rest (TABLE III and IX; Fig. 3). No significant differences in blood glucose were found between the rest before the work and the exercises (TABLE III and X; Fig. 4). Hemoglobin increased after the first phase of muscular work (p < .05) and decreased (p < .01) again after the second phase of work (TABLE IV, XI; Figure 5). Hematocrite (TABLE IV, XII; Figure 6) behaved similarly but increased significantly again after the third phase of muscular work (p < .02 - .001).

The concentration of K^+ in plasma (TABLE V and XIII; Fig. 7) increased after all phases of exercise, except the first phase as compared to the relative rest before the work (p < .05 - .001). The respective average values of the ratio between Na⁺ and K⁺ (TABLE VI and XV; Figure 9) were lower than in the control situations (p < .05 - .001).

Before the endurance conditioning the average output of urine (TAELE VII and XVI; Fig. 10) decreased significantly (p < .01) during the period which included the exercises as compared to the previous resting period. During the total period of exercise the urinary excretion of both noradrenaline and adrenaline (TAELE VII and XVII-XIX; Figure 11) increased significantly (p < .001). The respective ratio of noradrenaline to adrenaline decreased (p < .01). No significant differences were found in the urinary excretion of 17-hydroxycorticosteroids between the relative rest and exercise periods.

Effect of conditioning

The heart rates and the predicted maximal capacity of \mathbb{O}_2 uptake (\dot{v}_0 max.) are presented in TABLE II and Figure 2.

The summary of the statistical analyses in question appears in TABLE VIII. The average heart rate of the trained subjects was significantly lower (p < .001) than that of the control subjects in measurements performed during pedaling and the recovery phases. This effect was already observed after three weeks' training. During relative rest before the pedaling, the average heart rates of the two groups did not differ significantly. The heart rate of the control group decreased significantly (p < .05) in the first phase of the ergometer test in measurements after six and nine weeks from the outset of the study.

The average predicted maximal capacity of 0_2 -uptake increased in the trained group significantly (p < .001).

The concentration of lactic acid in plasma (TABLE III and IX; Figure 3) between the trained and nontrained groups differed significantly after training after the work I (p < .01) and the work III (p < .025). During relative rest and after the work II the groups did not differ significantly. Neither did they differ in any situations in the concentration of blood glucose (TABLE III and X; Figure 4).

After the training the hemoglobin concentration in blood (TABLE IV and XI; Figure 5) was lower in the trained group after the first two phases of ergometric work (p < .05 - .025), but not after the third phase nor during the relative rest before the muscular work. No significant differences between the groups were found either in respective hematocrite values (TAELE IV, XII; Fig. 6) nor in the concentrations of K⁺, Na⁺ in plasma or in the ratio of Na⁺ to K⁺ (TABLE VI and XIII-XV; Figures 7 - 9).

In the urine output (TABLE VII and XVI; Figure 10) no significant differences were found between the groups after the training. Neither was anything similar found in any situations in the urinary excretion of catecholamines (TABLE VII, XVII-XIX; Figure 11) nor 17-OHCS (TABLE VI and XX; Figure 12). The adrenal excretions did not correlate significantly with the urine output.

- 11 -

DISCUSSION

Effect of loading

Blood variables

The loading phases used were selected to represent roughly the various amounts of the aerobic and anaerobic energy production during work. All of these employed a slight to moderate anaerobic energy production, as can be seen in the concentrations of plasma lactic acid. All the loadings were submaximal in relation to the maximum of approximately 150 mg per cent as stated by Margaria (1963).

On the other hand, the present results with respect to lactic acid do not agree very well with the evidence of Margaria (1963), who states that the maximum is reached at about 5 - 3 minutes after stopping work. The average concentration of lactic acid five minutes after the moderate anaerobic work of six minutes at 1200 kpm/min was only about one half to one quarter of the respective values obtained in a previous study (Sarviharju 1970) only one minute after a very similar kind of six minutes work. The reason for this is uncertain.

Obviously the loadings used were not sufficient to produce a significant decrease in the blood glucose in spite of the fast before and during the experiment. This is consistent with the results of e.g. Young, et al., (1965) who demonstrated only a minor tendency of a decrease in blood glucose in the beginning of prolonged physical work and in resting postabsorptive subjects. Obviously the glucose mobilization during the muscular work neutralized the tendency of the decrease induced by the increased use by peripheral tissues.

The present demonstration of the increased hemoglobin concentration and/or hematocrite after exercise agrees well with the results reported by many authors as reviewed and confirmed by Holmgren, (1956). This increase was previously suggested as resulting from the expulsion of blood from the depots (e.g. Barcroft and Stevens, 1927). At present this is generally interpreted as showing a decrease in the blood volume, probably induced by a passage of the plasma filtrate from the circulating blood to the interstitial space (e.g. Kaltreider and Meneely, 1940; Ebert and Stead, 1941). In the present work this shift seems to be roughly related to the intensity of the exercise, the hemoglobin concentration and hematocrite fluctuating according to the varying anaerobic pattern of the loading phase.

In spite of the five minutes latency before the collection of blood samples after the exercise an increase in plasma-K⁺ was found, when the Ss were recovering from the second phase of pedalling. This is consistent with some previous evidence regarding the increased concentration of K⁺ in plasma due to muscular loading of even short duration (DeLanne et al., 1959; Kilburn, 1966, Metivier, 1969). Some authors suggest that the increase of K^+ is related to the amount of work done during repeated muscular work (Grob et al., 1957). They suggest that the organic phosphate compounds exist as K⁺ salts in cells and that the release of K^+ during exercise is produced by their phosphorylation and glycolysis. It has been suggested that the increase in permeability known to result from depolarization of the muscle membrane (Fatt, 1954) results from the hypoxic state of the muscles due to the excretion of catecholamines (Highman et al., 1959). According to the postulation of Kilburn (1966), exercise produces acidosis in the muscle cells, some K^+ is exchanged for H-ions and both are released from striated muscles. He states that this is the finding most consistent with the increased H-ion concentration of arterial blood during moderate systemic exercise and in blood draining from the exercising forearm. However, it was suggested that in view of the small fraction of change in muscle K^{\dagger} required to produce a large increase in extracellular K⁺, some other mechanisms may explain the liberation of K^+ into venous blood during exercise. Possibly the increased permeability and the increase produced in the electrolyte concentration in plasma could be interpreted as a mechanism of protection necessary to maintain the blood osmolality and plasma volume, as stated

by Metivier (1969). This effect of exercise was not previously found in our laboratory (Sarviharju, 1970), where six minutes of pedalling work was possibly even more anaerobic. Because there was no reason to believe in any latency in the increase of K^+ in plasma, the possible explanation for the inconsistency would be the relatively great lability of this electrolyte in plasma which may also be due to various factors other than exercise or any other kind of loading. The permanence of the plasma Na⁺ is similar to the previous data, which indicates that this concentration is quite stable (e.g. Schönholzer, 1959; DeLanne et al., 1959; Aurell et al., 1967).

Endocrine variables

The present results indicate a significant increase in the noradrenaline excretion after muscular work. This kind of increase has been considered a part of the cardiovascularresponse system regulating reactions in muscular work, while the mechanism responsible for the increased adrenaline output is not clear (Euler, 1967). Frankenhaeuser et al., (1965, 1967) state a consistent relationship between the amount of adrenaline release and the degree of mental stress or unpleasantness and consider the adrenaline increase likely to be at least partly associated with the subjective emotional reaction accompanying heavy physical work rather than to be elicited by the work itself (Frankenhaeuser et al., 1969).

The results of 17-OHCS could possibly be considered to agree with the previous evidence cited in the present review of literature. Consequently the first increase in the concentration of steroids in plasma after the outset of muscular work would be followed by a decrease due to the increased peripheral utilization of adrenal cortical hormony (Kägi, 1955; Hill et al., 1956). This increased utilization would possibly be met by a corresponding increased secretion from the adrenal cortex. Consequently, in the present study it was possibly measured during a phase, when the utilization process was reflected in the decrease in uninary 17-OHCS,

- 14 -

however, due to the methods of measurement, a significantly decreased level of 17-OHCS was not yet found. This would be due to the fact that the work time was not followed by any prolonged hypoxia, which according to the demonstrated amount will produce a transient increase in plasma concentration and urinary excretion of cortisol (Moncloa et al., 1965, 1970).

To summarize the loading effects on the uninary excretions of both catecholamines and 17-OHCS one may well suggest a consistency with the idea that the difference in steroid response to physical exercise and emotional loading on the one hand (Connell et al., 1958) and the affective states of differing quality on the other (Curtiss et al., 1960), does not agree with the nonspecificity in Selye's sense (1950). This is especially true if one relates them to the balance between hormones rather than to some single hormone alone.

Effect of endurance conditioning

Physical performance

The endurance conditioning can be considered effective; a rise in physical fitness in the trained group was obviously achieved as was shown by a statistically significant decrease in the heart rate during steady state at work and an increase in the predicted \dot{v}_0 max. even after three weeks training. The heart rate during relative rest is obviously not sensitive enough to show in every case the effect of prolonged physical training of relatively high degree and short duration as used in the present study.

Also in the control group the submaximal heart rate during work decreased almost significantly after ergometer work I in measurements after six and nine weeks from the outset of the study. A possible reason for this cannol be the increased physical activity, if the crude approximation of the physical activity of the control subjects is valid on the basis of their exercise diaries. I suppose that some kind of adaptation to or "Tearning" of the experimental loading procedure has a central role in the understanding of this curious "training effect". This kind of improvement in the physiological state at a constant level of performance can indicate, it is suggested, either the physiological adjustment to training or the psychological adjustment to habituation (Glaser and Griffin, 1962). Direct measurements of oxygen consuption during loading might reveal more accurately the "true effect" of conditioning on the physical performance and eliminate the effects of adaptation to the situation.

Blood variables

The produced effect of training is shown even by the observation of the significant difference between the groups in the plasma lactic acid after the most anaerobic phases of muscular work after the training. This kind of a lower concentration of the lactic acid in the more conditioned subjects during the same level of exercise is suggested by many authors, e.g. by Crescitelli and Taylor (1944), the training is also known to result in an increased capacity for accumulating lactic acid due to a greater utilization of anaerobic energy reserves as suggested, for example, by Knehr et al., (1942).

The present intensities of exercise as related to the work time obviously were not sufficient to produce any pronounced loading on the glucose mobilization to facilitate the differentiation of the trained and untrained groups.

After the training the trained group does not seem to respond to exercise with such a prominent increase in the hemoglobin concentration and hematocrite as the control group. There seems to be a logical explanation to this change due to the endurance conditioning. It has been suggested that the increase in the hemoglobin concentration is a compensatory function for the reduced oxygen saturation of the arterial blood necessary to increase the oxygen transport capacity (Kjellberg et al., 1949; Holmgren, 1956). Consequently the

- 16 -

increased circulatory capacity of the trained subjects will result in a less pronounced need to mobilize that compensatory mechanism during an exercise of the same level of intensity. Some previous observations of plasma K^+ and Na⁺ tended to show a possibility that the trained subjects would react at least to a short and intensive physical loading with more increased concentrations of plasma K^+ and with a lowered ratio of Na⁺ to K^+ and Na⁺ than would the untrained subjects (Sarviharju, 1970). These results were not confirmed by the present results. Some previous evidence suggest that the physical training will increase the internal K^+ in skeletal muscle cells during rest and the capability to empty these stores when exposed to exercise and thereafter to result in an increased exchange of K^+ and Na⁺ in the cells (Nocker, 1964). Consequently it would be more probable during the same level of exercise to find a lower concentration of K^{\dagger} in plasma in the trained subjects than in the untrained ones due to the possibly greater efficiency in muscle work. The over-all greater lability and the result of no significant differencies between the trained and untrained subjects in the present study does not support the idea of some kind of greater sensitivity in the trained subjects to emptying the K⁺ stores during exercise.

Endocrine variables

Beside the methodological errors in the determination, some other uncontrolled factors might probably have had an effect especially on to the level of hormone excretions. Such hormone diurnal and seasonal rhythmicity is known to be relevant with reference to catecholamines (e.g. Hale et al., 1966; Johansson et al., 1969) and 17-OHCS (e.g. Partter et al., 1962). The rhythmicity does not necessarily follow a 25 hour periodicity as suggested by Orth et al. (1907). This makes it possible that the present aim to control the diurnal

- 17 -

fluctuation by performing the measurements at the same time of the day through the whole period of experiment will not suffice to eliminate the error due to rhythmicity. Lack of sufficient data makes it impossible to evaluate this effect. No evidence was found to support the hypothesis of a decreased sympatho-adrenal activity due to endurance conditioning. Some previous evidence refers to a decreased adrenaline excretion in situations of relative rest, for example, in the forenoons of the control days (Sarvinarju et al., 1971), and in the afternoon (Sarviharju, 1970), but not in actual stress situations, i.e. during flights (Sarviharju et al., 1971), CRT-competition (Sarviharju and Nattila, 1972), during exercise (Sarviharju, 1970; 1972), or not even in the afternoons of control days (Sarviharju et al., 1971). This would suggest that the effect probably manifests itself at full rest, for example in sleep, and yet does not extend even to a low level of strain such as in light daily work. Training of much greater intensity and continuity than the kind used in present studies might be needed to extend the effect to cover the reactions of catecholamine excretion during some physically and/or mentally more loading conditions.

The previous data concerning noradrenaline excretion are even contradictory to the hypothesis, because a more increased excretion of noradrenaline was found in the trained subjects in the afternoon of a control day (Sarviharju et al., 1971) and in the respective forenoon (Sarviharju, 1970) with no significant difference between the groups during physical or mental loadings. Because of the well-known effect and a relative specificity of physical loading op this excretion, it could have been expected in particular that endurance conditioning would induce a decrease in the loading of the sympathetic nervous system at the same level of physical work. Because of the inconsistency in the results of the first studies and of the lack of significant differences in catecholamine excretions in the present study the suggestions presented will remain quite hypothetical. There are some points of view to be considered as factors possibly masking the effect of training on the endogenous excretion of catecholamines reflected in the urinary excretion. Wurtman (1965) suggests that the fraction of the active material of catecholamines metabolized of rebound before its excretion does not necessarily remain constant, when there is a change in its rate of release. Furthermore there is an inconsistancy in previous studies as a whole, as to the relationship between the urine output and the excretion of catecholamines. Insignificant correlation between these functions was found to be consistent with some previous data (e.g. Bloom et al., 1963; Levi, 1963; Graham et al., 1967) and not with some others (De Schaepdryver and Leroy, 1961; Dawson and Bone, 1963; Hathaway et al., 1969).

Evidence has also been presented stating that the noradrenaline excreted in the urine is solely derived from the catecholamines in circulating blood, that its clearance is not affected by changes in urine pH or flow, and that a partial reabsorbance of about 40 per cent from the glomerular filtrate (Overy et al., 1967). However, this mechanism of reabsorbance was not identified with certainty since the possibility of metabolic degradation by means of catechol-o-methyl transferase or by conjugation was not excluded. The investigator feels that anyway this evidence suggests the possibility of intervening mechanisms which could change the sensitivity of the direct measurement of urinary noradrenaline as a generally acceptable indicator of sympathetic activity. The changewould be in rebound, degradation and reabsorbtion mechanisms due to chronic exposure to intensive physical activity.

Hatch et al., (1950) suggest that the plasma flow and filtration rate are closer to normal in subjects, who could increase the minute volume more effectively than do those in good physical fitness. Despite data concerned with the positive correlation of infused catecholamines and their urinary excretion under normal conditions (e.c. Elmadjian et al., 1958) we cannot exclude the possibility of producing in a relatively more decreased urinary excretion of catecholamines in the nontrained subjects than in trained ones in a case of possibly more increased excretion into the blood in nontrained subjects under the same physical work load.

After the conditioning no significant differences between the groups were found in the urinary excretion of 17-hydroxycorticosteroids. The over-all variations and renal functions discussed in connection catecholamines in this text may be valid even in this case. One can suggest the excretion of 17-hydroxycorticosteroids to be a resultant of many factors such as the secretion, peripheral utilization and excretory functions. Since we do not have explainable systematic data about these function profiles during muscular work of varying degrees of intensity and duration, the present method of collection seems to be crude and holds quite insufficient promise to be valid in the present kind of use in the evaluation of the 17-hydroxycorticosteroids response in exercise.

Acknowledgement

This study was done with the assistance of a 1969 research grant from The Finnish Research Council for Physical Education and Sports, Ministry of Education. Thanks are due to Professor Jeddi Hasan, the Director of the Department of Public Health, University of Jyväskylä, Finland, for his support and advise and due to LuK Veikko Vihko, LiK Erkki Mattila, LiK Olli Manninen, yo Satu Hannula, yo Liisa Keuppinen, yo Kirsti Vaarna (chemical determinations), FM Liisa Havola-Pitkänen and Miss Patricia Baker (English revision) and also due to many others participating in this project by assisting or being a subject. REFERENCES

- ADAN, K., P. NOWACKT, E. SCHMID und techn. assistentin U. WEIST: Untersuchungen über die sympathiko adrenaline Reaktion bei Hochleistungsportlern im Training und im Wettkampf Sportartz und Sportmedizin, 19: 389-399, 1966.
- AURELL, M., M. CARLSSON, G. GRIMBY and B. HOOD: Plasma concentration and urinary excretion of certain electrolytes during supine work J. Appl. Physiol., 22: 633-638. 1967.
- BANISTER, E.W.: Urinary catecholamine secretion. XVI Weltkongr. Sportmed., Hannover (1966). Kongressbericht, Hannover, 1967, p. 649-657.
- BARCROFT, J., and J.G. STEPHENS: Observations upon the size of the spleen J. Physiol., 64: 1, 1927/28.
- BARTTER, F.C., C.S. DELEA, and F. HALBERG: A map of urinary changes related to circadian variations in adrenal cortical function in normal subjects Ann. N.Y.Acad.Sci., 98: 969-983, 1962.
- BECKER, E.J., and F. KREUZER: Sympathoadrenal response to hypoxia. Biochemistry of Exercise. Medicine and Sport. Karger, Basel/New York, 1969, pp. 188-191.
- BLOOM, G., EULER, U.S. v., and M. FRANKENHAEUSER: Catecholamine excretion and personality traits in paratroop trainees. Acta Physiol. Scand., 58: 77-89, 1963.
- CONARD, V., H. BRUNNENGRABER, R. VANCROUX, A. DE SCHAEPDRIJVER, E. MOERMANS, and J.R.M. FRANCKSON: Influence of muscular exercise of glucose regulation. In Poortmans, J.R. (ed.): Biochemistry of Exercise. Medicine and Sport, Karger, Basel/New York, 1969, 3:114-115.

- CONNEL, A.M., J. COOPER, and J.W. READFEARN: The contrasting effects of emotional tension and physical exercise on the excretion of 17 - ketogenic steroids and 17 - ketosteroids Acta Endocrin., 27: 179-194, 1958.
- CORNIL, A., A. de CORTEZ, G. COPINSCHI, and J.R.M. FRANCKSON: Effect of muscular exercise on the plasma level of cortisol in man Acta Endocrin., 48: 163-168, 1965.
- CRABBE, J., A. RIONDEL, and E. MACH: Contribution to the study of adreno-cortical responses: Changes in the level of the plasma 17-hydroxycorticosteroids following a physical effort (rowing competition) Acta Endocrin., Fr., 22: 119-124, 1956.
- CRESCITELLI, F., and C. TAYLOR: The lactate response to exercise and its relationship to physical fitness Am. J. Physiol., 141: 630-640, 1944.
- CURTISS, G.C., R.A. CLEGHORN, and T.L. SOURKES: The relationship between affect and the excretion of adrenaline, noradrenaline, and 17-hydroxycorticosteroids J. Psychosom. Res., 4: 176-184, 1960.
- DAWSON, J., and A. EONE: The relationship between urine volume and urinary adrenalin and noradrenalin excretion in a group of psychotic patients Brit. J. Psychiat., 109: 629-630, 1963.
- DeLANNE, R., J.R. BARNESS, and L. BROUHA: Changes in osmotic pressure and ionic concentration of plasma during muscular work and recovery

J. Appl. Physiol., 14: 804-808, 1959.

DeSCHAEPDRYVER, A.F., and J.G. LEROY: Urine volume and catecholamine excretion in man Acta Cardiol. (Brux.), 16: 631-638, 1961

- DeSCHAEPDRYVER, A., and M. HEBBELINCK: Ergometric exercise and urinary excretion of noradrenatine, adrenatine, dopamine, homovanillic and vanilmandelic acid. In Poortmans, J.R. (ed.): Biochemistry of Exercise. Medicine and Sport, Karger, Basel/New York, 1969, 3: 202-204.
- DeSCHRYVER, P. De HERDT, and J. LAMMERANT: Effect of physical training on cardiac catecholamine concentrations Nature, 214: 907-908, 1967
- DeSCHRYVER, C. J. MERTENS STRYTHAGEN, J. BECSEI, and J. LAMMERANT: Effect of training on heart and sheletal muscle catecholamine concentration in rats Am. J. Physiol., 217: 1589 - 1592, 1969.
- EBERT, R.V., and E.A. STEAD Jr.: Demonstration that the cellplasma ratio of blood contained in minute vessels is lower than that of venous blood J. Clin. Invest., 20: 317. 1941.
- EBERT, R.V., and E.A. STEAD Jr.: Demonstration that in normal man no reserves of blood are mobilized by exercise, epinephrine and hemorrhage Am. J. Ned. Sci., 201: 655, 1941.
- EHRINGER, H. und G. SPREITZER: Die Ausscheidung von Adrenatin und Noradrenatin im Harn bei Eischnelläufern während des Nettkampfes und vor dem Start. Wien.klin. Wschr., 79: 832-839, 1967.
- ELMADJIAN, E., J.N. HOPE, and E.T. LAMSON: Excretion of epinephrine and norepinephrine under stress Rec. Prog. Horm. Res. 14: 415-553, 1958.
- ERÄNKÖ, O., M.J. KARVONEN, and L. RÄISÄNEN: Long term effects of muscular work on the adrenal medulta of the rat. Acta Endecrin., 39: 285-287, 1962.

EULER, U.S. v.: Quantitation of stress by catecholaucine analysis

Clin. Pharmac. and Therap., 5: 398-404, 1964.

- EULER, U.S. v.: Adrenal medullary secretion and its neural control. In Martini, L., and W.F. Ganong (eds.): Neuroendocrinology. New York, Academic Press, 2: 283-333, 1967.
- EULER, U.S. v.: Sympatho adrenal activity and physical exercise Biochemistry of Exercise. Medicine and Sport S. Karger, Basel/New York, 1969, p. 170-181.
- EULER, U.S. v., and HELLNER, S.: Excretion of noradrenaline and adrenaline in muscular work. Acta Physiol. Scand., 26: 183-191, 1952.
- EULER, U.S. v., and F. LISHAJKO. Improved technique for the fluorimetric estimation of catecholamines. Acta Physiol. Scand., 51: 348-355, 1961.
- FATT, P.: Biophysics of junctional transmissions Physiol. Rev., 34: 674, 1954.
- FEW, J.D.: A method for the analysis of urinary 17-hydroxycorticosteroids J. Endocrin., 22: 31-46, 1961.
- FRANKENHAEUSER, M., J. FRÜBERG, and I. MELLIS: Subjective and physiological reactions induced by electrical shocks of varying intensity Neuroendocrin., 1: 105-112, 1965.
- FRANKENHAEUSER, M., J. FRÖBERG, R. HAGDAHL, A. RISSLER, C. BJÖRKVALL and B. WOLFF: Physiological, behavioral and subjective indices of habituation to psychological stress Physiol. Behav., 2: 229-237, 1967.

Percept. and Mot. Skills, 28: 343-349, 1969.

- FRENKEL, R., and L. CSALAY: Effect of regular muscular activity on adrenocortical function in rats J. Sports Med. Phys. Fitness, 2: 207-211, 1962.
- GLASER, E.H., and J.P. GRIFFIN: Influence of the cerebral cortex on habituation J. Physiol., 160: 429-455, 1962.

GRAHAM, D.T.: Some research on psychophysiologic specificity and its relation to psychosomatic disease. In Roessler, R. and N.S. Greenfield (Eds.): Physiological correlates of psychological disorder. Madison, Wisc.: Univ. of Wisconsin Press, 1962, pp. 221-236.

- GRAY, I., and W.P. BEETHAM Jr.: Changes in plasma concentration of epinephrine and norepinephrine with muscular work. Proc. Soc. Exptl. Biol. Med., 96: 036-038, 1957.
- GROB, D., A. LILJESTRAND, and R.J. JOHNS: Petassium movement in normal subjects: effect on muscle function Am. J. Med., 340-355, 1957.
- HATCH, F.T., D. HAMERMAN, and Z.Z. ZIPORIN: Urinary excretion of mucoproteins and adrenal corticosteroids during rest and exercise. Relation to urine volume and physical fitness. J. Appl. Physiol., 9: 465-468, 1956.
- HATHAWAY, P.W., M.L. BREHM, J.R. CLAPP, and M.D. EOGDONOFF: Urine flow, catecholamines and blood pressure Psychosom, Med., 31: 20-30, 1969.
- HELLMAN, K., K.J. COLLINS, C.H. GRAY, R.M. JONES, J.R. LUNNON, and J.S. WEINER: The excretion of urinary adrenocortical steroids during heat stress J. Endocrin., 14: 209-216, 1956.

HIGHMAN, B., H. MALING, and E. THOMPSON: Serum transaminases and alkaline phosphatase levels after large doses of norepinephrine and epinephrine in dogs Am. J. Physiol., 196: 436-440, 1959.

HILL, S.R., F.C. GOETZ, H.M. FOX, B.J. MURAWSKI, L.J. KRAKAUER, R.W. REIFENSTEIN, S.J. GRAY, W.J. REDDY, S.E. HEDBERG, J.R. St. MARC, and G.W. THORN: Studies on adrenocortical and psychological response in man Arch. Intern. Med., 97: 269-298, 1956.

HOLMGREN, A.: Circulatory changes during muscular work in men

Scand. J. Clin. Lab. Invest., 8: Suppl. 24, 1956.

HOWLEY, E.T., J.S. Skinner, J. MENDEZ, and E.R. BUSKIRK: Effect of different intensities of exercise on catecholamine excretion

Med. Sci. in Sports, 2: 193-196, 1970.

HYVÄRINEN, A., and E. NIKKILÄ: Spesific determination of blood glucose with o-toluidine

Clin. Chem. Acta, 7: 140-143, 1962.

- HÄGGENDAHL, J., L.H. HARTLEY, and B. SALTIN: Arterial noradrenaline concentration during exercise in relation to the relative work levels Scand. J. Clin. Lab. Invest., 26: 337-342, 1970.
- KALTREIDER, N.L., and R.W. MENEELY: The effects of exercise on the volume of blood

J. Clin. Invest. 19: 627, 1940.

KILBURN, K.H.: Muscular origin of elevated plasma potassium during exercise

J. Appl. Physiol., 21: 675-678, 1966.

KJELLBERG, S.R., U. RUDHE, and T. SJUSTRAND: Increase of the amount of hemoglobin and blood volume in connection with physical training Acta Physiol. Scand., 19: 146-151, 1949.

- KNEHR, C.A., D.B. DILL, and W. NEUFFELD: Training and its effects on man at rest and at work Am. J. Physiol., 136: 148-156, 1942.
- KOTCHEN, T.A., L.H. HARTLEY, T.W. RICE, E.H. MOUGEY, L.G. JONES, and J.W. MASON: Renin, norepinephrine, and epinephrine responsesto graded exercise J. Appl. Physiol., 31: 178-184, 1971.
- KÄGI, H.R.: Der Einfluss von Muskelarbeit auf die Blutkonzentration der Nebennierenrindenhormone Helv. Med. Acta, 3: 258-367, 1955.
- LEVI, L.: The urinary excretion of adrenalin and noradrenalin during experimentally induced emotional stress in clinically different groups Acta Psychoter., 11: 218-227, 1963.
- LEVI, L.: Endocrine reactions during emotional stress. In Levi, L. (ed.): Emotional Stress: Physiological and psychological reactions - Medical, Industrial, and Military Implications, S. Karger AG, Basel 1967, pp. 109-113.
- LINDMAR, R., E. MUSCHOLL, and K.H. RAHN: Effects of rest and physical activity on the urinary excretion of noradrenaline and <-methylnoadrenaline in human subjects treated with <-methyldopa European J. Pharmacol., 2: 317-319, 1966.
- MARGARIA, R.: Biochemistry of muscular contraction and recovery

J. Sports Med. and Phys. Fitness, 3: 145-156, 1963.

- MASON, J.W.: A review of psychoendocrine research on the pituitary - adrenal cortical system Psychosom. Med., 30: 576-607, 1968 (a).
- MASON, J.W.; A review of psychoendocrine research on the sympathetic - adrenal medullary system Psychosom. Med., 30: 632-652, 1968 (b).

METIVIER, G.: Enzymatic and ionic changes in man associated with physical work. In Poortmans, J.R.: Biochemistry of exercise. Medicine and Sport, Karger, Basel/ New York. 1969, pp. 301-310.

MONCLOA, E., J. DONAYRE, L.A. SOBREVILLA, and R. GUERRA GARCIA: Endocrine studies at high altitude. II Adrenal cortical function in sea level natives exposed to high altitudes (4300 meters) for two weeks.

J. Clin. Endocrinol., 25: 1640-1642, 1965.

- MONCLOA, E., A. CARCELEN, and L. BETETA: Physical exercise, acid - base balance and adrenal function in newcomers to high attitude J. Appl. Physiol., 28: 151-155, 1970.
- NAZAR, K.: Influence of muscular work on the plasma levels of 17-hydroxycorticosteroids (Zmiany poziomy 17hydroksysterydów w osoczu krwi zachodzace pod wlywen pracy miesniowej). In Polish. Acta Physiologica Polonica, 1965, 10, 195-200. In Abstracts of Current Literature, Aerospace Med., 35: 1215-1216, 1965.

NOCKER, J.: Physiologie der Leibesuebungen. Ferdinand Enke Verlag, Stuttgart, 1971.

- ORTH, D.N., D.P. ISLAND, and G.W. LIDDLE: Experimental alteration of the circadian rhytm in plasma cortisol (17-OHCS) concentration in man J. Clin. Endocrinol. and Metab., 27: 549-555, 1967.
- OVERY, H.R., R. PFISTER, and C.A. CHIDSEY: Studies on the renal excretion of norepinephrine J. Clin. Invest., 46: 482-489, 1967.
- PACE, N., E.L. WALKER, L.G.C. PUCH, P.S. TINIRAS, W.E. SIRI, H.L. YOUNG, R.H. KELLOGG, R. KARLER, F.H. HENCKEN, W.H. HAERTLE, and E. FAVA: The adrenal cortical response in swimmers participating in the English Channel race. Abstracts of the 20th Intern. Physiol. Congress, Brussels, 1956, p. 696-697.

- 28 -

RAVEN, P.R., T.J. CONNORS, and E. EVONUK: Effects of exercise on plasma lactic dehydrogenase isoenzymes and catecholamines

J. Appl. Physiol., 29: 374-377, 1970.

SARVIHARJU, P.J.: Kestävyysharjoittelun vaikutukset eräisiin biokemiallis-fysiologisiin muuttujiin tietyissä psykofyysisissä kuormitustilanteissa (Effect of endurance training on some biochemical and physiological variables during psychophysical loadings. In Finnish.) Public Health Publication no. 13, University of Jyväskylä, 1972.

SARVIHARJU, P.J.: Urinary excretion of catecholamines, 17hydroxycorticosteroids and concentration of certain blood parameters during progressive endurance conditioning

Public Health Publication no. 15, University of Jyväskylä, 1972 (1970).

SARVIHARJU, P.J.: Effect of physical exercise on the urinary excretion of catecholamines and 17-hydroxycorticosteroids in young healthy men

J. Sports Med. and Phys. Fitness, 1972. In press.

SARVIHARJU, P.J., M.E. HUIKKO, P.J. JOUPPILA, and N.T. KÄRKI: Effect of endurance training on the urinary excretion of noradrenaline and adrenaline during ground and flying activity

Aerospace Med., 42 (12): 1297-1302, 1971.

SARVIHARJU, P.J., and E. MATTILA: Urinary excretion of catecholamines during psychomotor choice reaction test before and after endurance conditioning Public Health Publication no. 14, 1972, University of Jyväskylä, 1972.

SARVIHARJU, P.J., and V. VIHKO: Plasma FFA during psychophysical loading and endurance conditioning

J. Sports Med. and Phys. Fitness, 1972. In press.

SELYE, H.: The Physiology and Pathology of Exposure to Stress Acta Inc., Montreal, 1950.

TAKAHASHI, A.: Muscle exercise and the hypothalamo - sympathico - adrenomedullary system Nagoya J. Med. Sci., 24: 37-71, 1961.

THOMAS, B.S.: Comparison between sodium metaperiodate and sodium bismuthate methods for the determination of urinary 17-ketogenic steroids J. Clin. Endocrin., 25: 701-710, 1905.

- THORN, G.W., D. JENKINS, and J.C. LAIDLAW: The adrenal response to stress in man Rec. Progr. Hormone Res., 8: 171, 1953.
- VENDSALU, A.: Studies on adrenaline and noradrenaline in human plasma. Acta Physiol. Scand., 49: Suppl. 173, 1960.
- VENNING, E.H., and V. KAZMIN: Excretion of urinary corticoids and 17-ketosteroids in the normal individual Endocrinol., 39: 131, 1946.
- VUORI, I., and A. PEKKARINEN: Effect of long distance skiing and short maximal physical exercise on the vanilmandelic acid, noradrenaline, advenaline and 17-OHCS response in the urine and plasma Scand. J. clin. Lab. Invest., 23: suppl. 108, 42, 1969.
- WEGNAN, H.M., K.E. KLEIN, und H. BRÜNNER: Submaximale Belastung und maximale Belastbarkeit. I Biochemiche Untersuchungen an Untrainierten unter körperlicher Arbeit. Int. Z. angew. Physiol. einschl. Arbeitsphysiol., 26: 4-12, 1968.
- WURTMAN, R.J.: Catecholamines, The New England J. of Med., 279: 637-646 and 746-753, 1965.
- YOUNG, D.R., R. PELLIGRA, and R.R. ADACHI: Serum glucose and free fatty acids in man during prolonged exercise J. Appl. Physiol., 21: 1047-1052, 1966.

ÅSTRAND, P-O., and I. RYHMING: A nomogram for calculation of aerobic capacity (physical fitness) from pulse rate during submaximal work

J. Appl. Physiol., 7: 218-221, 1954.

USTMAN, I., and N.O. SJÜSTRAND: Effect of heavy physical training on the catecholamine content of the heart and adrenals of the quinea - pig Experientia, 27: 270, 1971.

- 31 -



Fig. 1.

Schedule of separate phases of the experiment



Fig. 2. Predicted maximal capacity of 0_-uptake and steady state heart rate per minute during relative rest, submaximal exercise and recovery during nine weeks' period of endurance conditioning.

fort control group to trained group LACTIC ACID mg % = S.E. (B) work I 22 6 minutes 1200 kpm/min (C) work III 19+1 minutes 20 900 + 1500 kpm/min 18 respectively 15 14 P<.025 12 (C) work IL 20 minutes (A) relative rest (1 200 kpm/min 10 8 P <. 025 NS (2 6 4 2 0 (1 the four successive points in lines respect the measurements 0, 3, 6 and 9 weeks after the outset of training (M_0 , M_3 , M_6 and M_9) (2 all p-values from analyses of covariance for between group difference No as covariate

Fig. 3. Plasma lactic acid during relative rest and after exercise during a period of endurance conditioning.



(2 all p-values from analyses of covariance for between group difference M as covariate

Fig. 4. Blood glucose concentration during relative rest and after exercise during a period of endurance conditioning.

HEMOGLOBIN trained group -x control group 9/100 ml ± S.E. 16.5 16.0 (2 P<.025 15.5 NS p<.05 15.0 (A) relative rest (B) work I Gminute 19 ADE (C) work in (D) work III 14.0 6 minutes 19+1 minutes .20 minutes 1200 kgm/min 900 kpm/min 900+1500 kpm/min respectively the four successive points in lines respect the measurements 0, 3, 6 and 9 weeks after the (1 outset of training (M_0 , M_3 , M_6 and M_9) all p-values from analyses of covariance M_0 as covariate (2.

Fig. 5. Hemoglobin during relative rest and after exercise during a period of endurance conditioning.

HEMATOCRITE control group trained group 0/0 ± S.E. 47 46 (2 NS NS NS NS 45 44 (1 (A) (B) work I elative rest (C) work I (\mathbf{A}) Work III 43 6 minutes 20 minutes 19+1 Ininutes 900 leptin Jonin 1200 lepa/min 900 + 1500 companies respectively (1 the four successive points in lines respect the measurements 0, 3, 6 and 9 weeks after the outset of training (M_0 , M_3 , M_6 and M_9) all p-values from analyses of covariance for between group difference M as covariate (2 Fig. 6. Hematocrite during relative rest and after exercise during a period of endurance conditioning.



Fig. 7. Plasma-K⁺ during relative rest and after exercise during a period of endurance conditioning.

- ----



Fig. 8. Plasma-Na⁺ during relative rest and after exercise during a period of endurance conditioning.



Fig. 9. The ratio of plasma-Na⁺ and -K⁺ (Na⁺/K⁺) during relative rest and after exercise during a period of endurance conditioning





Fig. 11. Urinary excretion of noradrenaline and adrenaline during relative rest and exercise of total 46 minutes on a bicycle ergometer during a period of endurance conditioning.



Fig. 12. Urinary excretion of 17-OHCS during relative rest and exercise of total 46 minutes on a bicycle ergometer during a period of endurance conditioning.

Subjects	Age (years)	Height (cm)		Wei (k		
	gill de gygelle gygellen an effenting die dem einste state flatte big bin state flatte big bin state state stat	1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 -	(1 _{M0}	M ₃	^M 6	^M 9
Control group (11)	24 ± 0.73	177 ± 1.87	68.0 ⁺ 3.16	68.0 ± 3.00	68.3 - 2.96	68.5 [±] 3.02
Trained group (11)	25 ± 0.76	175 - 2.03	67.9 ± 2.34	67.7 - 2.99	67.7 - 2.46	67.7 [±] 2.56

.

.

.

.8

TABLE I SUBJECTS: GROUP MEANS ⁺ S.E. FOR DESCRIPTIVE DATA

.

TABLE II.PREDICTED MAXIMAL CAPACITY OF O2-UPTAKE AND STEADY STATE HEART RATE PER
MINUTE DURING RELATIVE REST, SUBMAXIMAL PHYSICAL WORK AND RECOVERY DURING
A NINE-WEEK PERIOD OF ENDURANCE CONDITIONING

(From the report SARVIHARJU, P. J.: Urinary excretion of catecholamines 17-hydroxycorticosteroids and concentration of certain blood parameters during progressive endurance conditioning, Public Health Publication no. 15, 1972, University of Jyväskylä, Finland)

Subjects	Measuren during trai period	nent During ning relative 1 rest	During ergometer work I; 6 minutes 1200 kpm/min.	During recovery from work I	During ergometer work II; 20 minutes 900 kpm/min.	During recovery from work II	During ergometer work III; 19 + 1 minutes 900 + 1500 kpm/min. respect	Predicted V ₀₂ max ml/min/kg of weight ³
	M_0	$^{2}64 \pm 2.9$	159 ± 5.0	73 ± 4.1	141 ± 5.3	70 ± 5.2	169 ± 4.9	57 ± 2.3
Control	\mathbf{M}_3	60 ± 2.9	157 ± 4.5	73 ± 4.3	142 ± 5.3	74 ± 5.4	167 ± 4.8	59 ± 2.3
group	M_6	63 ± 3.8	156 ± 4.4	72 ± 4.4	143 ± 5.6	71 ± 4.4	168 ± 5.1	59 ± 1.9
(11)	M_9	60 ± 3.5	154 ± 4.4	71 ± 4.2	141 + 5.4	73 ± 4.3	165 ± 5.1	60 ± 1.6
		4 NS	p < .001	p < .001	p < .001	p < .001	p < .001	p < .001
	\mathbf{M}_{0}	60 ± 4.6	158 ± 5.5	74 ± 4.6	149 ± 6.0	78 ± 5.8	171 ± 5.4	59 + 3.0
Trained	M_3	60 ± 4.3	148 ± 5.5	64 ± 4.9	134 ± 4.9	65 ± 3.1	158 ± 4.6	66 ± 4.0
group	M_6	57 ± 3.6	145 ± 4.4	64 ± 3.6	129 ± 4.4	64 ± 4.1	156 ± 4.6	69 ± 3.0
(11)	M9	56 ± 3.5	139 ± 4.6	60 ± 4.2	123 ± 4.6	64 ± 5.0	150 ± 4.6	74 ± 3.0

¹ M_0 = before training; M_3 --M₉ = 3, 6 and 9 weeks after the beginning of training

² numbers are Mean \pm S.E.

³ with the indirect method of estimation of Astrand and Ryhming (1954)

⁴ analysis of covariance for between group difference; M_0 as covariate, M_3 ---M₉ as criterion

TABLE III. LACTIC ACID AND BLOOD GLUCOSE DURING RELATIVE REST AND AFTER PHYSICAL WORK DURING A NINE-WEEK PERIOD OF ENDURANCE CONDITIONING

(From the report SARVIHARJU, P. J.: Urinary excretion of catecholamines, 17-hydroxycorticosteroids and concentration of certain blood parameters during progressive endurance conditioning, Public Health Publication no. 15, 1972, University of Jyväskylä, Finland)

di Baltin anna a sconganga anna an an an anna			(A) During relative rest			(B) 5 6	minutes minutes	after wo 1200 kpn	rk I; n/min	
			¹ M ₀	M_3	M ₆	M9	 1 M ₀	M ₃	\mathbf{M}_{6}	M9
Lactic acid	Control group	X S.E.	4.7 0.58	4.5 0.38 ² F =	4.5 0.68 0.316	4.1 0.35	18.6 2.14	17.0 2.42 ${}^{2} F = p$	18.1 2.97 6.863 .025	15.7 2.52
mg º/o	Trained group Total	$\overline{\mathbf{X}}$ $\mathbf{S.E.}$ $\overline{\mathbf{X}}$	4.7 0.24 4.7	4.0 0.34 ³ (A)	4.4 0.54 - (B) p <	5.3 0.48 < .001	20.3 4.07 19.5	14.6 2.17 ³ (B)	11.5 2.01 (C) p	9.4 1.54 < .001
	Control group	X S.E.	71.4 1.84	73.8 1.20 2 F =	72.4 1.69 0.055	73.0 1.25	71.1 2.34	73.2 1.71 ² F =	70.8 1.43 0.488	71.7 2.66
Glucose mg %	Trained group Total	\overline{X} S.E. \overline{X}	72.5 2.62 72.0	N 73.2 1.63 ³ (A) –	S 73.0 1.90 (B) N	74.7 1.58 S	72.2 1.32 71.6	70.0 1.39 ³ (B) -	7 13 1.26 - (C) NS	72.0 1.67 5
			(C) 5 1 20	minutes a minutes	after wor 900 kpn	rk II; n/min	 (D) 5 19 kj	minutes) + 1 mir om/min,	after wor nutes 900 respective	k III; + 1500 ely
			¹ M ₀	M_3	M_6	M9	¹ M ₀	M_3	M_6	M9
Lactic acid	Control group	X S.E.	6.8 0.78	6.7 0.99 $^{2} F =$	6.5 1.08 2.498 S	6.9 1.16	13.8 1.81	12.2 2.04 ${}^{2}F =$ p =	12.9 2.09 7.487 .025	11.1 1.32
mg %	Trained group Total	X S.E. X	10.0 1.97 8.4	6.7 0.85 \$ (A)	5.5 0.70 - (C) p ·	6.1 0.58 < .001	 16.3 3.19 15.0	12.1 1.54 3 (A) - (C) -	9.3 1.31 	9.7 1.19 < .001 < .001
	Control group	X S.E.	70.2 2.66	72.9 1.41 ² F = (72.5 1.85 0.819	72.7 2.21	71.1 2.49	71.5 1.86 ² F =	71.4 1.58 2.348	70.5 2.79
mg %	Trained group Total	\overline{X} S.E. \overline{X}	68.3 0.98 69.2	N3 72.0 1.55 ³ (A) —	74.3 1.71 - (C) NS	73.8 2.06	68.3 1.31 69.7	N 70.3 1.71 ³ (A) – (C) –	5 74.5 1.94 – (D) NS – (D) NS	73.7 1.94

¹ M_0 = before training; $M_3 - M_9 = 3$, 6, 9 weeks after the beginning of training.

2 analysis of covariance for the between group difference; M_0 as covariate, $M_3 - M_9$ as criterion

8 t-test for the total means in M₀.

TABLE IV. HEMOGLOBIN AND HEMATOCRITE DURING RELATIVE REST AND AFTER PHYSICAL WORK DURING A NINE-WEEK PERIOD OF ENDURANCE CONDITIONING

(From the report SARVIHARJU, P. J.: Urinary excretion of catecholamines, 17-hydroxycorticosteroids and concentration of certain blood parameters during progressive endurance conditioning, Public Health Publication no. 15, 1972, University of Jyväskylä, Finland)

			(A) D	uring rel	ative rest		(B) 5 6	minutes minutes	after wor 1200 kpm	k I; /min
			¹ M ₀	M ₃	M6	M9	1 M ₀	M 3	\mathbf{M}_{6}	M9
Hemoglohin	Control group	X S.E.	15.3 0.36	15.5 0.22 ² F =	15.4 0.26 1.643 IS	15.8 0.25	15.7 0.32	$15.8 \\ 0.23 \\ {}^{2} F = \\ p \le $	15.9 0.32 6.018 .025	16.1 0.26
g/100 ml	Trained group Total	X S.E. X	15.5 0.29 15.4	15.4 0.23 3 (A)	15.4 0.19 — (B) p •	15.4 0.20 < .05	15.8 0.25 15.7	15.6 0.21 3 (B) -	15.4 0.21 — (C) p <	15.3 0.21 < .01
Hematocrite	Control group	X S.E.	45.2 1.14	45.5 0.72 ² F =	45.2 0.93 0.017 NS	45.9 0.76	46.3 1.08	46.6 0.82 ² F ≒ 1	46.2 1.01 3.710 NS	46.5 0.81
0/0	Trained group Total	X S.E. X	45.1 0.56 45.2	45.6 0.60 ³ (A)	45.6 0.28 (B) p •	45.1 0.51 < .01	46.1 0.57 46.2	45.3 0.49 3 (B)	45.7 0.43 — (C) p <	44.7 0.54 < .001
			(C) 5 20	minutes) minutes	after wor 900 kpm	rk II; /min	(D) 5 19 k	minutes) + 1 min pm/min,	after wor nutes 900 respective	ck III; + 1500 ly
			1 M ₀	M_3	M_6	M 9	1 M0	M_3	M_6	M9
Hemoglobin	Control group	X S.E.	15.3 0.32	15.5 0.28 ² F =	15.7 0.37 4.381	15.8 0.24	15.5 0.33	15.6 0.28 ² F =	15.7 0.35 2.991	15.9 0.24
g/100 ml	Trained group Total	X S.E. X	15.6 0.19 15.4	p 15.4 0.18 [§] (A) -	.05 15.5 0.22 — (C) NS	15.3 0.22	15.6 0.24 15.6	15.5 0.17 ³ (A) -	$15 \\ 15.5 \\ 0.24 \\ - (D) NS$	15.2 0.22
31.00				()	(2)		1010	(C) -	-(D) NS	
	Control group	X S.E.	44.7 1.04	44.9 0.83 ² F =	45.1 0.95 2.480	45.6 0.79	45.6 1.11	45.4 0.91 ${}^{2}F =$	45.8 0.77 0.299	45.6 0.79
Hematocrite %	Trained group Total	\overline{X} S.E. \overline{X}	45.0 0.42 44.9	N 44.8 0.44 ³ (A) -	S 44.9 0.39 – (C) NS	44.3 0.56	45.3 0.46 45.5	N 45.1 0.36 ³ (A) - (C) -	S 45.7 0.49 (D) NS (D) p <	44.8 0.36

¹ M_0 = before training; $M_3 - M_9 = 3$, 6, 9 weeks after the beginning of training. ² analysis of covariance for the between group difference; M_0 as covariate, $M_3 - M_9$ as criterion. ³ t-test for the total means in M_0 .

TABLE V. PLASMA — K⁺ AND — Na⁺ DURING RELATIVE REST AND AFTER PHYSICAL WORK DURING A NINE-WEEK PERIOD OF ENDURANCE CONDITIONING

(From the report SARVIHARJU, P. J.: Urinary excretion of catecholamines, 17-hydroxycorticosteroids and concentration of certain blood parameters during progressive endurance conditioning, Public Health Publication no. 15, 1972, University of Jyväskylä, Finland)

	an an an Anna Anna an Anna Anna Anna A		(A) During relative rest			est	(B) 5 6	minutes minutes	after wo 1200 kpi	ork I; m/min
			1 M0	M_3	M_6	M 9	1 M ₀	M3	\mathbf{M}_{6}	M9
Plasma K+	Control group	X S.E.	4.5 0.07	4.7 0.11 2 F =	4.6 0.08 = 2.057	4.6 0.06	4.6 0.08	4.8 0.09 2 F =	4.6 0.07 1.892	4.7 0.06
mEq/l	Trained group Total	X S.E. X	4.5 0.07 4.5	4.7 0.14 3 (A)	4.7 0.07 — (B) N	4.7 0.08 IS	4.5 0.10 4.6	4.8 0.12 3 (B)	4.7 0.08 	4.6 0.07 < .001
Plasma Na+	Control group	X S.E.	147.2 0.91	153.7 2.10 ² F =	148.2 0.56 = 0.129	148.0 1.37	148.6 0.91	154.2 1.70 ² F =	148.0 1.01 0.231	148.7 1.62
mEq/l	Trained group Total	X S.E. X	148.0 0.92 147.6	153.1 2.62 3 (A)	147.9 0.95 — (B) N	148.5 1.30 NS	148.7 0.93 148.7	154.6 2.09 ³ (B)	148.1 1.90 (C) N	148.9 1.65 S
			(C) 5 20	minutes) minutes	after wo s 900 kpr	ork II; n/min	(D) 5 19 kj	minutes) + 1 mir pm/min,	after wo nutes 900 respective	rk III; + 1500
			¹ M ₀	M3	\mathbf{M}_{6}	M9	1 M ₀	M3	\mathbf{M}_{6}	My
Plasma K+	Control group	X S.E.	4.8 0.05	4.9 0.08 ² F =	4.7 0.05 0.395	4.7 0.07	4.7 0.09	$4.8 \\ 0.10 \\ 2 F = $	4.7 0.07 0.734	4.7 0.09
mEq/l	Trained group Total	$\frac{\overline{X}}{S.E.}$	4.8 0.08 4.8	5.0 0.13 ³ (A)	4.8 0.07 — (C) p	4.8 0.06 < .001	4.6 0.09 4.7	4.8 0.12 ³ (A) - (C) -	4.8 0.10 	4.7 0.07 < .05 S
Plasma Na†	Control group	X S.E.	147.6 0.90	154.2 2.16 ² F =	148.3 0.79 0.164	148.7 1.79	147.2 0.69	152.7 1.81 2 F =	148.0 1.08 0.520	150.5 1.55
mEq/l	Trained group	\overline{X} S.E. \overline{X}	149.8 0.60 148.7	153.9 2.23 ³ (A)	147.3 1.15 	148.7 1.38 JS	148.3 0.91 147.8	152.8 2.18 ³ (A) (C)	146.2 0.94 (D) N (D) N	149.2 1.55 S

¹ M_0 = before training; $M_3 - M_9 = 3$, 6, 9 weeks after the beginning of training. ² analysis of covariance for the between group difference; M_0 as covariate, $M_3 - M_9$ as criterion. ³ t-test for the total means in M_0 .

TABLE VI. THE RATIO OF PLASMA — Na⁺ AND — K⁺ (Na⁺/K⁺) DURING RELATIVE REST AND AFTER PHY-SICAL WORK DURING A NINE-WEEK PERIOD OF ENDURANCE CONDITIONING (From the report SARVIHARJU, P. J.: Urinary excretion of catecholamines, 17-hydroxycorticosteroids and

concentration of certain blood parameters during progressive endurance conditioning, Public Health Put cation no. 15, 1972, University of Jyväskylä, Finland)	(1.10111	erre	TCF	JOIL	OUTLA	TTUTTO	νυ,	1.0	Ormary	excremon or	catecholan	mes, 11-nyui	UNY COI 1.	icoster or	us anu
cation no. 15, 1972, University of Jyväskylä, Finland)	concen	trati	on	of c	ertain	blood	par	ameters	during	progressive	endurance	conditioning,	Public	Health	Publi-
	cation	no.	15,	197	2, Uni	versity	of	Jyväsky	lä, Finl	and)					

			(A) D	uring rela	tive rest		(B) 5	i minutes 3 minutes	after wo 1200 kpr	ork I; n/min
			¹ M ₀	M3	\mathbf{M}_{6}	M 9	1 M ₀	M_3	\mathbf{M}_{6}	M9
	Control group	X S.E.	32.5 0.52	32.8 0.50	32.4 0.57	32.2 0.47	$\begin{array}{c} 32.2\\ 0.58\end{array}$	32.4 0.43	$\substack{32.2\\0.49}$	32.0 0.48
Na+/K+ mEg/l				² F = N	2.222 IS			2 F =	1.277 NS	
mEq/1	Trained group	X S.E.	33.0 0.44	$\begin{array}{c} 32.6\\ 1.11\end{array}$	31.5 0.46	31.9 0.55	33.1 0.84	$\begin{array}{c} 32.2 \\ 1.00 \end{array}$	31.3 0.68	32.2 0.51
	Total	x	32.7	3 (A) -	— (B) N	S	32.7	3 (B)	— (C) p	< .001
	na kan dan Silan Manjuan Kanan Kanan dan Kanan di Kanan dan dari kanan dan dari kanan dari kanan dari kanan da		(C) 5 2(minutes) minutes	after wo 900 kpr	rk II; n/min	(D) 5	minutes 9 + 1 mi pm/min,	after wo nutes 900 respective	ork III; + 1500 ely
			¹ M ₀	M_3	M_6	M9	¹ M ₀	M 3	M_6	M 9
	Control group	X S.E.	31.0 0.29	31.2 0.47	31.3 0.25	31.4 0.59	$\begin{array}{c} 31.1 \\ 0.54 \end{array}$	31.6 0.59	31.8 0.53	32.1 0.61
Na+/K+ mEq/l		* 		² F = N	1.924 IS			2 F == I	1.598 NS	
mEq/1	Trained group	X S.E.	31.3 0.50	31.0 0.80	$\begin{array}{c} 30.6\\ 0.41 \end{array}$	$\begin{array}{c} 31.3\\ 0.45\end{array}$	32.3 0.67	31.7 0.92	30.8 0.62	31.8 0.51
	Total	X	31.2	³ (A) -	— (C) p	< .001	31.7	³ (A) (C)	— (D) p — (D) N	< .05 S

¹ M_0 = before training; $M_3 - M_9 = 3$, 6, 9 weeks after the beginning of training. ² analysis of covariance for the between group difference; M_0 as covariate, $M_3 - M_9$ as criterion. ³ t-test for the total means in M_0 .

TABLE VII.URINE OUTPUT AND URINARY EXCRETION OF CATECHOLAMINES AND 17-OHCS DURING
RELATIVE REST AND WORK ON A BICYCLE ERGOMETER DURING A NINE-WEEK PERIOD
OF ENDURANCE CONDITIONING

(From the report SARVIHARJU, P. J.: Urinary excretion of catecholamines, 17-hydroxycorticosteroids and concentration of certain blood parameters during progressive endurance conditioning, Public Health Publication no. 15, 1972, University of Jyväskylä, Finland)

			• •	Tost for		
Variable	Groups $n = 11$		Measurement duri Index numbers are	ng training perio weeks after the	d (M) outset	loading effect 1
19		Mo	My	MG	M:i	Ч
Urine output	Control	1.03 ± 0.16	0.87 ± 0.16	1.02 ± 0.17	0.78 ± 0.13	< 01
ml/min	Trained	1.03 ± 0.23	0.88 ± 0.11	1.35 ± 0.16	0.81 ± 0.09	.01
Adrenaline (A)	Control	5.3 ± 0.90	5.0 ± 0.76	4.7 ± 0.71	5.1 ± 1.31	< 001
ng/min	Trained	4.2 ± 0.68	4.8 ± 0.30	4.3 ± 0.74	4.6 ± 0.82	< .001
Noradrenaline (NA)	Control	18.6 ± 1.76	15.3 ± 1.82	18.8 \pm 2.28	19.5 ± 2.17	2 001
ng/min	Trained	23.6 ± 2.65	17.3 ± 1.80	22.1 ± 2.98	19.3 ± 1.71	.001
NA + A	Control	24.0 ± 2.36	20.3 ± 1.93	23.6 ± 2.99	24.7 ± 3.08	
ng/min	Trained	27.9 ± 3.05	22.1 ± 1.98	26.4 ± 3.43	23.8 ± 2.08	< .001
NA/A	Control	4.5 ± 0.87	4.4 ± 1.02	4.5 ± 0.60	5.2 ± 0.75	1. 1. A.
	Trained	6.3 ± 0.93	3.6 ± 0.29	6.1 ± 0.84	6.2 ± 1.49	< 01
$\triangle \mathbf{A}$	Control					
ng/min	Trained					
\wedge NA	Control		\triangle -NUMBERS	S TO RIGHT IND	DICATE THE	
ng/min	Trained		CHANGE FF	ROM REST TO	WORK	
\wedge NA + A	Control					
ng/min	Trained				1 A	
17-OHCS	Control	8.3 ± 0.67	7.9 ± 1.06	7.9 ± 0.55	8.5 ± 0.93	
µg/min	Trained	8.7 ± 0.60	8.2 ± 1.01	7.5 ± 0.42	7.4 ± 0.59	NS

			During work	Test				
Variable	Groups	Mea	surement durir	ng training per	riod (M)	for training effect ²		
	n = 11	Index	numbers are	weeks after th	ne outset	During	During	
		M_0	M3	M_6	M9	rest	work	
Urine output	Control	0.98 ± 0.24	0.77 ± 0.13	0.73 ± 0.13	0.74 ± 0.09	F = 0.785	F = 1.491	
ml/min	Trained	0.73 ± 0.19	1.11 ± 0.26	1.27 ± 0.19	1.08 ± 0.29			
ng/min	Trained	16.9 ± 1.94 15.7 ± 2.20	13.0 ± 1.31 15.6 ± 2.08	15.1 ± 2.25 14.6 + 1.82	14.1 ± 2.03 150 + 2.99	F = 0.042	F = 0.068	
Noradrenaline (NA)	Control	42.0 ± 3.04	36.2 ± 3.21	40.2 ± 5.28	41.8 ± 4.17	F - 0 194	F - 0373	
ng/min	Trained	50.2 ± 4.94	34.5 ± 2.71	43.0 ± 4.43	41.1 ± 4.51	r = 0.134	r - 0.373	
NA + A	Control	58.9 ± 3.69	49.2 ± 3.83	55.3 \pm 6.42	56.0 ± 5.49	F = 0.653	F = 0.170	
ng/min	Trained	65.9 ± 6.45	50.0 ± 3.42	57.5 \pm 5.91	56.1 \pm 7.15	1 - 0.000	, - 0.110	
NA/A	Control Trained	2.8 ± 0.37 3.9 ± 0.67	3.1 ± 0.38 2.7 + 0.32	3.0 ± 0.35 3.2 + 0.34	$\begin{array}{rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$	F = 0.423	F = 1.320	
ΔA	Control	10.7 ± 1.23	8.4 ± 0.85	10.8 ± 1.69	8.7 ± 1.08		0.059	
ng/min	Trained	10.8 ± 2.02	8.2 ± 1.22	10.3 ± 1.33	10.7 ± 2.42	· · · · · · · · · · · · · · · · · · ·	F = 0.052	
△ NA	Control	23.5 ± 2.62	20.7 ± 2.74	22.0 ± 4.01	20.9 ± 1.89		12 - 0.950	
ng/min	Trained	24.7 ± 3.96	16.1 ± 1.86	21.2 ± 2.21	21.9 ± 3.99	-	r = 0.200	
Δ NA + A	Control	34.1 ± 2.50	29.1 ± 3.09	31.8 ± 4.61	30.6 ± 2.45		F = 0.021	
ng/min	Trained	35.5 ± 5.24	25.9 ± 2.40	31.5 ± 3.13	32.7 ± 6.03		r - 0.031	
17-OHCS µg/min	Control Trained	$\begin{array}{rrrr} 8.0 & \pm & 0.95 \\ 8.1 & \pm & 1.07 \end{array}$	$\begin{array}{rrrr} 8.1 & \pm & 1.05 \\ 7.5 & \pm & 1.58 \end{array}$	$\begin{array}{rrrr} 7.3 & \pm & 0.78 \\ 8.3 & \pm & 0.59 \end{array}$	$\begin{array}{rrrr} 7.9 & \pm & 0.55 \\ 6.8 & \pm & 0.99 \end{array}$	F = 0.161	F = 0.031	

 $^{\rm i}$ t-test for the total means between rest and work in 0-situation

 2 analysis of covariance for the between group difference M_0 as covariate and $M_{\rm d}\text{--}M_{\text{N}}$ as criterion

	(A) Hear	t rate	during rest	t	(R) He	(B) Heart rate during work I				
Source			uur mg					JOIN I		
<u> </u>			M2		SS	df	MS	F		
Between subjects										
A (groups)	228.125	1	228.125	0.750	2234.000) 1	2234.000	3.384		
Subj. w.A	5468.719	18	303.817		13201.501	20	660.075			
Within subjects										
B (measurements)	45 687	2	22 842	0 506	106 500		203.250	9 600 ***		
AB	83,218	.2	41 600	0.000	408.900	2	55 875	0.699		
B*subi. w.A	1624.437	36	41.009	0.922	934,500	· · · · · · · · · · · · · · · · · · ·	23 362	2.391		
Total	7450.188	0	424125		16888 253	40	20.002			
A (adj.)	52.410	1	52,410	0.298	1766.299	1	1766.299	15.443****		
Subj. w.A (adj.)	2989.321	17	175.842		. 2173.050	19	114.371			
	(C) Hear	t rate	during reco	overy	(D) He	art ra	te at work	II		
Source	-	from	work I					+ * * * * * * * * * * * * * * * *		
	SS	df	MS	F	SS	df	MS	F		
Between subjects										
A (groups)	1391.000	1	1391.000	2.775	3040.500) 1	3040.500	4.025		
Subj. w.A	10023.626	20	501.181		15105.001	20	755.250			
within subjects										
B (measurements)	202,000	2	101.000	2.792	425.250) 2	212,625	5.653***		
AB	22,500	2	11.250	0.311	226.250	2	113.125	3.007		
B° subj. w.A	1446.875	40	36.171		1504.500	1. 40	37.612			
Total	13086.001			10 01 073	20301.503		4	L 10 5755		
A (adj.)	1557.862	1	1557.862	19.747**	~ 6035.458	1	6035,458	41,148		
Source	(E) Heart	from	during reco work II	very	(F) He	art rat	te at work			
	SS	df	MS	F	SS	df	MS	F		
Between subjects			· . • .							
A (groups)	1620,125	1	1620,125	3.146	2257,250	1	2257.250	3,337		
Subj. w.A	10298.876	20	514,943		13526.751	20	676.337			
Within subjects										
B (measurements)	6.562	2	3.281	0,058	313.750	2	156.875	4.938**		
ΔB	8,312	2	4.156	0.074	96.250	2	48.125	1.514		
3° subj. w.Λ	2246.500	40	56.162		1270.750	40	31.768			
Cotal	14180.376				17464.753					
\ (adj.)	3072.273	1	2072.273	22,298**	2924.870	1	2924,870	20.658		
Subj. w.A	2617.808	19	137.779	· · ·	2690.054	19	141.581			

	Source		(G) N	Caximal VC	⁾ 2					
			SS	df	 MS	F				
	Between	subject	S							
	A ('man-	-) -)	<u>-</u> ,	87 -	1741 107	7 075	بوند			
	A (group)	5) A	1/41.1	01 1 163 20	221 102	1.075				
	546J: 141	-	4422.0	20	221.103					
	Within su	bjects								
	B (measu	ements) 208.5	00 2	104.250	7.633	***			
	AB		124.6	25 2	62.312	4.562				
	B∗ subj.	w.A	546.2	50 40	13.656					
	Total		7042.6	25			10-10-10-10-10-10-10-10-10-10-10-10-10-1			
	A (adj.)		1345.1	34 1	1345 134	20 610	1			
				5.4	10421124	20.015				

TABLE VIII SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON MAXIMAL VO2 AND STEADY STATE HEART RATE DURING RELATIVE REST AND PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

* p<.05

TABLE IX SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON PLASMA LACTIC ACID AT RELATIVE REST AND AFTER PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source	(А	A) Re	est		(1	3) Wo	ork I	
	SS	df	MS	F	SS	df	MS	F
Between subjects						· . · ·		in a fair fu rug yn roll ar fan san dan san dan san a sa
A (groups)	0.854	1	0.854	0.224	425.632	1	425.632	2.658
Subj. w.A	76.272	20	3.813		3201.729	20	160.086	
Within subjects								
B (measurements)	2.476	2	1.238	0.669	122.667	2	61.333	7.367*
AB	8.225	2	4.112	2.223	59.615	2	29.807	3.580*
B [∗] subj. w.A	73.983	40	1.849		333.009	40	8.325	
Total	161.812				4142.655			
A (adj.)	1.021	1	1.021	0.316	568.218	1	568.218	6.863*
Subj. w.A (adj.)	61.277	19	3.225		1573.065	19	82.792	
Source	(c	;) Wc	ork II		(1) Wa	ork III	
	SS	df	MS	F	SS	df	MS	F
Between subjects								
A (groups)	5.303	1	5.303	0.248	49.250	1	49.250	0.679
Subj. w.A	427.020	20	21.351		1449.127	20	72.456	
Within subjects								
B (measurements)	5.570	2	2.785	0.891	36.103	2	18.051	2.518
AB	3.420	2	1.710	0.547	33.605	2	16.802	2.343
B* subj. w.A	124.978	40	3.124		286.750	40	7.168	
Total	566.293		-		1854.836			•
A (adj.)	36.915	1	36.915	2.498	155.518	1	155.518	7.487
Subj. w.A (adj.)	280.681	19	14.772		394.623	19	20.769	
د د بر بر به بر	• p05 • p < .025 • p < .01				na na mangana na mangana na kana na mangana n Mangang na mangana na ma			

* * * * p < .001

TABLE X

SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON BLOOD GLUCOSE AT RELATIVE REST AND AFTER PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source	(A)	Res	st		(1	B) Wo	ork I	
	SS	df	MS	F	SS	df	MS	F
Between subjects		5						
A (groups)	5.500	1	5.500	0.127	11.875	1	11.875	0.213
Subj. w.A	865.187	20	43.259		1110.250	20	55.512	
Within subjects								
B (measurements)	17.375	2	8.687	0.467	8.000	2	4.000	0.176
AB	13.812	2	6.906	0.372	47.625	2	23.812	1.050
B∗ subj. w.A	742.562	40	18.564		906.812	40	22.670	
Total	1644.437				2084.562			
A (adj.)	2.113	1	2.113	0.055	22.655	1	22.655	0.488
Subj. w.A (adj.)	725.144	19	38.165		881.362	19	46.387	
	(c)	Wor	k II		(1	D) Wo	rk III	
Source	 SS	df	MS	F	SS	df	MS	F
	1.1107011107-01-0-1-0-1-0-1-0-1-0-1-0-1-0-							
Between subjects								
A (groups)	8.000	1	8.000	0.126	46.875	1	46.875	1.010
Subj. w.A	1261.562	20	63.078		927.812	20	46.390	
Within subjects								
B (measurements)	12.812	2	6.406	0.279	47.375	2	23.687	0.548
AB	19.500	2	9.750	0.425	65.937	2	32,968	0.762
B∗ subj. w.A	915.500	40	22.887		1728.687	40	43.217	- •
Total	2217.375				2816.687			
A (adj.)	35.094	1	35.094	0.819	91.746	1	91.746	2.348
Subj. w.A (adj.)	813.557	19	42.818		742。221	19	39.064	
* * *	* p< .05 * p< .025 * p< .01 * p< .001							

TABLE XI SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON HEMOGLOBIN AT RELATIVE REST AND AFTER PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source		(A	A) Re	est		(B) Wo	ork I	
		SS	df	MS	F	SS	df	MS	F
Between subjects									
A (groups)		0.634	1	0.634	0.419	3.277	7 1,	3.277	1.897
Subj. w.A		30.234	20	1.511		34.537	20	1.726	
Within subjects	1								·
B (measurements)		0.435	2	0.217	1.895	0.093	2	0.046	0.415
AB		0.666	2	0.333	2.898	0.867	2	0.433	3.840*
B * subj. w.A		4.595	40	0.114		4.515	40	0.112	
Total		36.566				43.291			
A (adj.)		1.149	1	1.149	1.643	3.683	1	3.683	6.018 ^{**}
Subj. w.A (adj.)		13.286	19	0.699		11.626	19	0.611	
Source		(c	:) Wo	rk II		(D) Wo	ork III	
and the second	un ou weathing the state	SS	df	MS	F	SS	df	MS	F
Between subjects									
A (groups)		1.232	- 1	1.232	0.655	2.078	1	2.078	1.131
Subj. w.A		37.574	20	1.878		36.736	20	1.836	
Within subjects									
B (measurements)		0.140	2	0.070	0.481	0.074	2	0.037	0.243
AB		0.388	2	0.194	1.331	1.486	2	0.743	4.867**
B∗ subj. w.A		5.835	40	0.145		6.107	40	0.152	
Total		45.171				46.482			
A (adj.)		3.269	1	3.269	4.324	2.930	1	2.930	2.991
Subj. w.A (adj.)		14.364	19	0.756		18.611	19	0.979	
	* * * * * *]	p < .05 p < .025 p < .01 p < .001					e ga de de la constante de la c		

TABLE XII SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON HEMATOCRITE AT RELATIVE REST AND AFTER PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source	(A)	Rest	5		(B)) Woi	rk I	
	SS	df	MS	F	SS	df	MS	F
Between subjects								
A (groups)	0.375	1	0.375	0.029	23.000	1	23.000	1.548
Subj. w.A	257.968	20	12.898		297.031	20	14.851	
Within subjects								
B (measurements)	0.593	2	0.296	0.341	2.250	2	1.125	1.131
AB	4.000	2	2.000	2.298	4.781	2	2.390	2.403
B∗subj. w.A	34.812	40	0.870		39.781	40	0.994	
Total	297.750				366.843			
A (adj.)	0.079	1	0.079	0.017	18.210	1	18.210	3.710
Subj. w.A (adj.)	87.780	19	4.620		93.248	19	4.907	
Source	(C)	Work	: II		(D)	Wor	rk III	
	SS	df	MS	F	SS	df	MS	F
Between subjects								
A (groups)	4.750	1	4.750	0.332	3.031	1	3.031	0.278
Subj. w.A	285.406	20	14.270		217.968	20	10,898	
Within subjects								
B (measurements)	0.531	2	0.265	0.374	4.437	2	2.218	1.470
AB	4.687	2	2.343	3.303*	0.906	2	0.453	0.300
B∗ subj. w.A	28.375	40	0.709		60.343	40	1.508	-
Total	323.750				286.687			
A (adj.)	8.682	1	8.682	2.480	1,028	1	1.028	0.299
Subj. w.A (adj.)	66.501	19	3.500		65.261	19	3.434	
	* p < .05					·		
》 《 * * *	× p < .0~) × p < .01 × p < .001							

TABLE XIII SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON PLASMA - K⁺ AT RELATIVE REST AND AFTER PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source	(A)	Res	t		(B)	Wor	k I		
	SS	df	MS	F	SS	df	MS	F	
Between subjects									
A (groups)	0.090	1	0.090	0.560	0.063	. 1	0.063	0.487	
Subj. w.A	3.214	20	0.160		2.605	20	0.130		
Within subjects									
B (measurements)	0.108	2	0.054	0.792	0.329	2	0.164	3.114	
AB	0.020	2	0.010	0.148	0.063	2	0.031	0.601	
B* subj. w.A	2.736	40	0.068		2.117	40	0.052		
Total	6.169				5.180				
A (adj.)	0.194	1	0.194	2.057	0.150	1	0.150	1.892	
Subj. w.A (adj.)	1.800	19	0.094		1.515	19	0.079		
Source	(c)	Wor	k II		(U)	Wor	k III	innen fan Staar van de fan Staar fan Staa 1999 - Weerste Staar fan Staar	ge de vie non verdeligende de de
	SS	df	MS	F	SS	df	MS	F	
Between subjects			- - -						
A (groups)	0.053	.1	0.053	0.399	0.018	1	0.018	0.097	
Subj. w.A	2.665	20	0.133		3.625	20	0.181		
Within subjects									
B (measurements)	0.626	2	0.313	7.643***	0.278	2	0.139	2.853	
AB	0.012	2	0.006	0.146	0.039	2	0,019	0.399	
B⊁ subj. w.A	1.639	40	0.041		1.948	40	0.049		
Total	4.996				5.907		- - -		
A (adj.)	0.031	1	0.031	0.395	0.106	1	0.106	•.734	
			0.070		0 71.0	10	0 1 5		

* * p < .025
* * * p < .01
* * * p < .01
* * * p < .001

TABLE XIV SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON PLASMA - Na⁺ AT RELATIVE REST AND AFTER PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source	(A) Res	t		(В) Wc	ork I	
	SS	df	MS	F	SS	df	MS	F
Between subjects			анна али и странци и странци странци и странци и странци и странци и странци и странци и страни и страници и ст				ang pang sang pang pang pang pang pang pang pang p	
A (groups)	2.500	1	2,500	0.114	4.000	1	4.000	0.192
Subj. w.A	436.000	20	21.800		415.500	20	20.775	
Within subjects								
B (measurements)	411.750	2	205.875	6.212*	** 533.250	2	266.625	7.228***
AB	2.500	2	1.250	0.037	-2.000	2	-1.000	-0.027
B∦ subj. w.A	1325.500	40	33.137		1475.500	40	36.887	
Total	2178.250) (1147-5-100-10-10-10-10-10-10-10-10-10-10-10-10	nieranie and film of the second s	enter totalette de competition de la co	2426.250			
A (adj.)	2.812	1	2.812	0.129	4.949	1	4.949	0.231
Subj. w.A (adj.)	413.639	19	21.770		405.862	19	21.361	
Source	(c)	Work	II		(D) Wo	ork III	Y New Westernamen and a set of the
	SS	df	MS	F	SS	df	MS	F
Between subjects								
A (groups)	5.750	1	5.750	0.205	19.000	1	19.000	0.785
Subj. w.A	561.750	20	28.087		484.000	20	24.200	
Within subjects								
B (measurements)	505.000	2	252.500	7.981	** 352.750	2	176.375	6.125***
AB	2.500	2	1.250	0.040	8.250	2	4.125	0.143
B* subj. w.A	1265.500	40	31.637		1151.750	40	28.794	
Total	2340.500				2015.750			MAN STREAM ST
A (adj.)	4.853	1	4.853	0.164	11.933	1	11.933	0.520
Subj. w.A (adj.)	561.564	19	29.556		436.253	19	22.961	
* -*	× p<.05							
* * *	* p<.001							

TABLE XV SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON THE RATIO OF PLASMA - Na⁺ AND - K⁺ (Na⁺/K⁺) AT RELATIVE REST AND AFTER PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source	(A) F	Rest		(В) Wo	rk I	
	SS di	E MS	F	SS	df	MS	F
Between subjects		anta nga anta nga anta nga anta nga anga nga anga nga anga nga anga nga			, , , , , , , , , , , , , , , , , , ,	an fan de generale generale de general	n na
A (groups)	3.640 1	3.640	0.529	1.562	1	1.562	0.245
Subj. w.A	137.593 20	6.879		127.156	20	6.357	
√ithin subjects							
B (measurements)	7.125 2	3.562	0.992	3.093	2	1.546	0.462
AB	1.484 2	0.742	0.206	3.203	2	1.601	0.478
B* subj. w.A	143.640 40)		133.921	40	3.348	
Total	293.484			268.937		1999 1997	
A (adj.)	9.820 1	9.820	2.222	5.709	1	5.709	1.277
Subj. w.A (adj.)	83.960 19	4.418		84.907	19	4.468	
1994 - 199	MP 41122 1142 1152 1174 4174 1174 1174 1174 1174 1174 117	an fan te ferste generale fan de sere en sere e	1944 Milliology and an and an	annaa maaaaaaa aa aa aa aa aa aa aa aa aa a	20075-121-0200-1021020	NANCOST IZ LINNING IN THE DESIGNATION ADDRESS (1998)	and a second
Source	(C) W	Vork II		(D) Wo	rk III	
	SS df	S MS	F	SS	df	MS	F
Between subjects							
(groups)	2.484 1	2.484	0.480	2.672	1	2.672	0.314
Subj. w.A	103.516 20	5.176		170.125	20	8.506	
Vithin subjects							
3 (measurements)	2.172 2	2 1.086	0.569	4.484	2	2.242	0.869
AB	1.297 2	0.648	0.340	3.156	2	1.578	0.612
3*subj. w.A	76.281 40	1.907		103.203	40	2.580	
Total	185.750	uan wake a kakedan saken saken sakan saka ang ang ang ang ang ang ang ang ang an	anti-utra anna filiada a anna degra com	283.641		antenna ana ana ana ana ana ana ana ana ana	2019-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-
	6 187 1	6.187	1.924	11.354	1	11.354	1.598
(adj.)	0.10/ 1	•					
a (adj.) Subj. w.A (adj.)	61.094 19	3.215		134.988	19	7.105	

★ → p<.025 ** p < .01 × * * * p≤.001

TABLE XVI SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON URINATION DURING RELATIVE REST AND PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

				Urin	e ml/mi	.n	****	
Courses	(A)	Res	st		(B) Pe	eriod	of wor	ks I - III
Source	SS	df	MS	F	SS	df	MS	F
Between subjects	Dia balan Addit, multiple a nontrova Pananenia an agos	en 1999		antan manang di kang di	and an approximately and a stand and a stand and a stand and an and a stand and a stand and a stand and a stand			
A (groups)	0.256	1	0.256	0.686	0,268	1	0.268	1.254
Subj. w.A	7.456	20	0.372		4. 287	20	0.214	
Within subjects								
B (measurements)	1.787	2	0.893	6.287***	0.065	2	0.032	0.564
AB	0.355	2	0.177	1.249	0.288	2	0.144	2.470
B [~] subj. w.A	5.684	40	0.142		2.333	40	0.058	
Total	15.539				7.244	anin 2005ilia 4440 100 100 100 100 100 100 100 100 10		
A (adj.)	0.254	1	0.254	0.785	0.319	1	0.319	1.491
Subj. w.A (adj.)	6.155	19	0.323		4.075	19	0.214	
	Ţġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġġ	Andreas an a sub-state of the second s	Urine	m1/min/k	g of bo	dy w	eight	
	(A)	Res	t	and and a second	(B) Pe	riod	of wor	ks I - III
Source	SS	df	MS	न	SS	df	MS	F
£211273920++474343220119209322020400000000000000000000000000000			1950/1014-01-01-01-01-01-01-01-01-01-01-01-01-01-	nanonanya katang kat	and and a second s	01000000100000000000000000000000000000		
Between subjects								
A (groups)	0.004	1	0.004	0.455	0,268	1	0,268	1.374
Subj. w.A	0.208	20	0.010		3.900	20	0.195	
Within subjects								
B (measurements)	0,035	2	0.017	6.411***	0.082	2	0.041	0.719
AB	0,009	2	0.004	1.725	0.280	2	0.140	2.446
B*subj. w.A	0.111	40	0.002		2.295	40	0.057	
Total	0,370				6.827			
A (adj.)	0,005	1	0.005	0.779	0.309		0.309	1.563
Subj. w.A (adj.)	0.139	19	0.007		3.754	19	0.197	
* * * * * * *	p < 0.05 p < 0.025 p < 0.01 p < 0.001	SEEDING OF OUR SECOND						

TABLE XVII SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON URINARY EXCRETION OF CATECHOLAMINES DURING RELATIVE REST AND PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

	Ann and a start and a start of the			Adr	renaline	v nadališka dag na na	a man a salaman di nan distance mini Statence que a sa superiore de la compacta de la compacta de la compacta d	
Source	(A) Re	est		(B) Per:	iod	of works	I – III
504100	SS							
Between subjects		ν.						
A (groups)	2.603	1	2.603	0.219	11.060	1	11.060	0.107
Subj. w.A	238.065	20	11,903		2052.891	20	102.644	
Within subjects								
B (measurements)	2.267	2	1.133	0.212	9.048	2	4.524	0.127
AB	0.436	2	0.218	0.041	20,351	2	10.175	0.287
B [×] subj. w.A	213.977	40	5.349		1417.683	40	35.442	
Total	457.347				3511.035	In the standing strangers		ana any gana ana any amang ana any amin' amin
A (adj.)	0.312	1	0,312	0.042	5.153	1	5.153	0.068
Subj. w.A (adj.)	141.801	19	7.463		1433.760	19	75.461	
			an - an mar an in aig sing an in the state of the state o	Nora	drenaline			
	(A) Re	st		(B) Per	riod	d of work:	s I - III
Source	SS	df	MS	F	SS	df	MS	F
Between subjects		aan maarin omditalid	ngganga Pro-pro-program ng mga ang mga	Talang ng gang kang kang kang kang kang kan				
A (groups)	46.555	1	46.555	0.483	0.281	1	0.281	0.001
Subj. w.A	1929.316	20	96.466		7066.594	20	353.330	-
Within subjects								
B (measurements)	206.590	2	103.295	3.513*	570.813	2	285.406	2.693
AB	36.449	2	18.225	0.620	63.375	2	31.688	0.299
B≭subj. w.A	1176.227	40	29.406		4238.875	40	105.972	
Total	3395.137				11939.938			
A (adj.)	8.063	1	8.063	0.134	113.610	1	113.610	0.373
Subj. w.A (adj.)	1143.442	-19	60.181		5786.320	19	304.543	•
	p < 0.05 p < 0.02 p < 0.02	5				fam styrge mage an MM		
at it is	p < 0.00	1						

TABLE XVII SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON URINARY EXCRETION OF CATECHOLAMINES DURING RELATIVE REST AND PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

		****	Adr	enaline	+ noradren	alin	е	andre Kan Mannara al kan gan Altimik Manjaliki yang di Kan Aryan yang di Kana
Source	(A) Re	est		(B) P	erio	d of work	s I - III
	SS	df	MS	F	SS	df	MS	F
Between subjects								
A (groups)	15.062	1	15.062	0.098	8.656	1	8.656	0.014
Subj. w.A	2756.289	18	153.127		12344.875	20	617.244	
Within subjects		ø						
B (measurements)	200.015	2	100.007	2.482	693.219	2	346.609	1.770
AB	1.726	2	0.863	0.021	24.875	2	12.438	0.063
B [≭] subj, w.A	1450.164	36	40.282		7835.031	4.0	195.876	
Total	4423.258				20906.656		······································	and a state of the state point of the state point of the state of the state of the state of the state of the st
A (adj.)	49.211	1	49.211	0.653	81.086	1	81.086	0.170
Subj. w.A (adj.)	1279.516	17	75.265		9087.502	19	478.289	
	Ra	atic	of nora	adrenal	ine and adr	enal	ine (NA/A)
Source	(A)) Re	st		(B) P	erio	d of work	s I - III
	SS	df	MS	F	SS	df	MS	F
Between subjects							•	
A (groups)	6.559	1	6.559	0.464	0.995	1	0.995	0.285
Subj. w.A	282.864	20	14.143		69.614	20	3.480	
Within subjects								
B (measurements)	36.608	2	18.304	2.784	1.509	2	0.754	0.797
AB	17.030	2	8.515	1.295	1.254	2	0.627	0.662
B∗subj. w.A	263.012	40	6.575		37.875	40	0.946	
Total	606.073				111.249			19 10 10 10 10 10 10 10 10 10 10 10 10 10
A (adj.)	6.294	1	6.294	0.423	3.557	1	3.557	1.320
Subj. w.A (adj.)	282.807	19	14.885		51.193	19	2.694	

* p< 0.05
* x p< 0.025
* x p< 0.01
* * * p < 0.01
* * * p < 0.001</pre>

TABLE XIX SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON CHANGE IN CATECHOLAMINE EXCRETION FROM RELATIVE REST TO PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

Source	Change in	adro	enaline	(Δ Α))	Change i	n noi	radrenal	ine (🛆	NA)
	SS	df	MS	F		SS	df	MS	F	
Between subjec	ets									
A (groups)	2.742	1	2.742	0.058	3	32.60	9 1	32.609	0.197	
Subj. w.A	839.099	18	46.616			2967.96	1 18	164.886		
Within subject	<u>s</u>									
B (measurement	s) 50.458	2	25.229	1.661		131.05	8 2	65.529	1.422	
AB	20.195	2	10.097	0.664	ļ.	82.49	2 2	41.246	0.895	
B* subj. w.A	546.763	36	15.187			1657.80	8 36	46.050	с. 2010 г.	
Total	1459.259					4871.93	0		н. 	
A (adj.)	2.285	1	2.285	0.052	2	41.58	3 1	41.583	0.250	
						<i>.</i> .				
Subj. w.A (ad;	j.) 737.129	17	43.360			2816.47	4 17	165.674		
Subj. w.A (ad	j.) 737.129	17	43.360			2816.47	4 17	165.674		
Subj. w.A (ad	j.) 737.129	17	43.360			2816.47	4 17	165.674	•	
Subj. w.A (ad	j.) 737.129 C Source	17 han _é	43.360 ge in NA	A + A	(Δ	2816.47 NA + A)	4 17	165.674		
Subj. w.A (ad	j.) 737.129 Source	17 han _é	43.360 ge in NA	A + A SS	(▲ df	2816.47 NA + A) MS	¹ / ₁ 17	165.674		
Subj. w.A (adj	j.) 737.129 Cource	17 hang	43.360 ge in NA	A + A SS	(▲ df	2816.47 NA + A) MS	¹ 4 17	165.674		
Subj. w.A (adj S <u>Be</u> A	j.) 737.129 C Source etween subj (groups)	17 hang	43.360 ge in NA	A + A SS 3.890	(△ df'	2816.47 NA + A) MS 3.890	4 17 F 0.012	165.674		
Subj. w.A (adj S <u>B</u> e A Su	j.) 737.129 C: Source etween subj (groups) ubj. w.A	17 hané	43.360 ge in NA	A + A SS 3.890 7.047	(Δ df 1 18	2816.47 NA + A) MS 3.890 299.280	4 17 F 0.012	165.674		
Subj. w.A (adj S <u>Be</u> A Su	j.) 737.129 C: Source etween subj (groups) ubj. w.A	17 hané	43.360 ge in NA	A + A SS 3.890 7.047	(Δ df 1 18	2816.47 NA + A) MS 3.890 299.280	⁴ 17 F 0.012	165.674		
Subj. w.A (adj S Be A Su <u>Wi</u>	j.) 737.129 Cource etween subj (groups) ubj. w.A thin subje	17 hang ects	43.360 ge in NA	A + A SS 3.890 7.047	(Δ df 18	2816.47 NA + A) MS 3.890 299.280	4 17 F	165.674		
Subj. w.A (ad S <u>Be</u> A Su <u>Wi</u> B	j.) 737.129 Cource etween subj (groups) ubj. w.A thin subje (measuremen	$\frac{17}{han_{\ell}}$	43.360 ge in NA 5387	A + A SS 3.890 7.047 7.546	(▲ df 1 18 2	2816.47 NA + A) MS 3.890 299.280 113.773	4 17 F 0.012	165.674		
Subj. w.A (ad, S <u>B</u> e A Su <u>Wi</u> B AE	j.) 737.129 Cource etween subj (groups) ubj. w.A thin subje (measurements)	$\frac{17}{han_{\ell}}$	43.360 ge in NA 5387) 227 7	A + A SS 3.890 7.047 7.546 1.156	(▲ df 1 18 2 2	2816.47 NA + A) MS 299.280 113.773 35.578	4 17 F 0.012 1.179 0.368	165.674		
Subj. w.A (adj S <u>B</u> A Su <u>Wi</u> B A B	j.) 737.129 C Source etween subj (groups) ubj. w.A thin subje (measurements subj. w.A	17 han _é ects nts)	43.360 ge in NA 5 5387) 227 7 347	A + A SS 3.890 7.047 7.546 1.156 1.312	(▲ df 1 18 2 2 36	2816.47 NA + A) MS 3.890 299.280 113.773 35.578 96.425	4 17 F 0.012 1.179 0.368	165.674		
Subj. w.A (ad)	j.) 737.129 Cource etween subj (groups) ubj. w.A thin subje (measurements subj. w.A	17 hang ects nts)	43.360 ge in NA 5387) 227 7 347 9160	A + A SS 3.890 7.047 7.546 1.156 1.312 0.955	(▲ df 1 18 2 2 36	2816.47 NA + A) MS 3.890 299.280 113.773 35.578 96.425	4 17 F 0.012 1.179 0.368	165.674		
Subj. w.A (adj S Be A Su <u>Wi</u> B A B A T C A	j.) 737.129 Cource etween subj (groups) ubj. w.A thin subje (measurements) subj. w.A tal (adj.)	17 hange	43.360 ge in NA 5387) 227 7 347 9160	A + A SS 3.890 7.047 7.546 1.156 1.312 0.955 9.145	(▲ df 1 18 2 2 36 1	2816.47 NA + A) MS 3.890 299.280 113.773 35.578 96.425 9.145	4 17 F 0.012 1.179 0.368	165.674		

TABLE XX SUMMARY OF ANALYSIS OF VARIANCE AND COVARIANCE ON URINARY

EXCRETION OF 17 - HYDROXCORTICOSTEROIDS DURING RELATIVE REST

AND PHYSICAL WORK DURING A PERIOD OF ENDURANCE TRAINING

			17	- OHCS	µg/min	an an the state of t		1920-21470-1-0-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1
Source	(A) Re	est			(B) Per	iod o	of works	I - II
	SS	df	MS	F	SS	df	MS	F
Between subjects								
A (groups)	2.454	1	2.454	0.193	0.610	1	0.610	0.033
Subj. w.A	253.482	20	12.674		359.670	20	17.983	
Within subjects								
B (measurements)	1.672	2	0.836	0.199	2.716	2	1.358	0.191
AB	4.843	2	2.421	0.577	13.368	2	6.684	0.941
B [★] subj. w.A	167.807	40	4.195		283.882	40	7.097	
Total	430.260				660.249			
A (adj.)	2.147	1	2.147	0.161	0.598	1	0.598	0.031
Subj. w.A (adj.)	252.668	19	13.298		359.118	19	18.900	
an sea ann an Anna ann an Anna an Anna ann an Anna Anna An Sea ann an Anna Anna Anna Anna Anna Anna		1	7 - OHCS	ng/min	/kg of bod	y wei	ght	
Source	(A) Re	est			(B) Per	iod o	f works	I - III
	SS	df	MS	F	SS	df	MS	F
Between subjects								
A (groups)	0.110	1	0.110	0.403	0.029	1	0.029	0.85
Subj. w.A	5.487	20	0.274		6.957	20	0.347	
Within subjects								
B (measurements)	0.009	2	0.004	0.049	0.049	2	0.024	0.159
AB	0.033	2	0.016	0.169	0.331	2	0.165	1.064
B* subj. w.A	3.943	40	0.098		6.219	40	0.155	
Total	9.584				13.586			
A (adj.)	0.120	1	0.120	0.421	0.029	1	0.029	0.080
Subj. w.A (adj.)	5.432	19	0.285		6.893	19	0.362	
₩₩₩₽₩₩₩₽₩₩₩₩₽₩₽₩₩₽₩₩₽₩₩₽₩₩₽₩₩₽₩₽₩₽₩₽₩₽	gen nes kaltur in han et dige og de av winder at ter state og de av	Sup.c.,175325555555			89999999999999999999999999999999999999			
* * * *	* p<.05 • p<.025 • p<.01	in verster, næger skrive						<u>.</u>